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Seat

No. [5301]-EXT-101

F.Y.B.A. EXAMINATION, 2018
(For External)
COMPULSORY ENGLISH
(Text Prescribed : Visionary Gleam)
(2013 PATTERN)
Time : Three Hours
Maximum Marks : 100
NB. — (1) All questions are compulsory.
(if) Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) of the following in
about 150 words each : [20]
(A) (i) Comment on the relationship of Della and Jim in
‘The Gift of the Magi’.
(if) Describe the Astrologer’s meeting with Guru Nayak.
(B) (i) Bring out the significance of the title of the story, ‘The
Gift of the Magi'.
(i) Briefly discuss each of the six pillars of self-esteem and
what each of them mean with reference to ‘Our Urgent
Need for Self Esteem’.
2. Attempt any one from (A) and one from (B) of the following in
about 150 words each : [20]
(A) (i) Discuss the expression of love in ‘A Red, Red Rose’ and

‘If You Call Me'.
P.T.O.



(11)

B) O

(11)

(11)
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Describe Tagore’s poem ‘Where the Mind is Without Fear’
as a prayer for his country.

Comment on the use of poetic devices in ‘A Red, Red
Rose’.

Do you think that Tagore’s poem ‘Where the Mind is
Without Fear’ is relevant even today ? Give reasons for

your answer.

3. Attempt any one from (A) and one from (B) of the following in
about 150 words each : [20]
(A) (1) How does Dr. Ambedkar view the prospects of democracy
in India ?
(i) How does Karan Singh urge the youth to realise their
responsibilities towards the nation ?
(B) (i) Draw a character sketch of the narrator in ‘The Eyes
are not Here’.
(z/)  ‘Unity in Diversity’ should strengthen the nation. Discuss
with reference to Nehru’s ‘A Tryst with Destiny’.
4. Attempt any one from (A) and one from (B) of the following in
about 150 words each : [20]
(A) (i) How does Wordsworth portray the city in ‘Upon Westminster

Bridge’ ?
Bring out the significance of the title of the poem, ‘Success

is Counted Sweetest’.



B) O

(11)

Comment on the theme of alienation and perception in
‘An Old Woman’.

Wordsworth is essentially known as a Nature poet. Do
you think that his description of London fits that image ?

Give reasons for your answer.

5. (A) Attempt any five of the following : [10]

(1)

(11)

(1i1)

(1v)

(v)
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Use correct tense forms of the verbs given in brackets :
Yesterday morning, I................. (switch) off the over-heated
engine, which ................. (run) for six hours.

Fill up the blanks in the sentence given below with suitable
prepositions :

Rini was angry................. Simon and spoke harshly..............
him.

Fill in the blanks in the sentence below using verbs in
the simple past tense form :

We............ (have) a house in Ambarnath but we............
(sell) it last year.

Fill in the blanks in the sentences below, using the present
progressive tense form of the verbs given in brackets :
My uncle.............. (arrive) tomorrow. So, we............. (prepare)
sweet dishes.

Fill in the blanks in the sentence below with suitable

articles :
Roshan has found............. phone on his way home. He
took.......... phone to the police station.

3 P.T.O.



(vi) Fill in the blanks in the sentence below using the appropriate
form (singular/plural) of the verb given in bracket :
Neither Suresh nor Meenakshi............... (complete : simple
present) the assignment on time.

(vii) Rewrite the following sentence in the tense suggested
in bracket :

She is preparing for her final exam. (Change into the
past progressive tense)
(B) Attempt any two of the following : [10]

(1)  Prashant forgets to wish his friend Ashok on his birthday
and calls him to apologise.

Ashok assures him that it is all right. Write a dialogue
based on this situation.

(i) The Principal of a college invites his two colleagues to
lunch. One accepts and the other declines the invitation
because of some other engagement. Write a dialogue based
on this situation.

(1if) Your friend has got selected for an MBA course in the
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United States. You heartily congratulate her on this

wonderful achievement. Write a dialogue on this situation.
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1. GSIGUh! HIVCAR S&T W=l Yt 20 ITeaid I<i fomr [20]

(7)) SURU Ul WYl WUN % ? W% H.
(7)) WFRE AEAMET 3L TR FHA.
(i) Hfsd M= "o W &

(7v) SE¥HEdA Ffgdl T@M AT DUl TS WAl STed 2

(v) SThRENET gae™ fasiy s &
(vi) WoaUe g ferar.

(vi) ‘T’ =oe & 9 o

(vif) WSe wufiar o AF[E aed ST &3

(31) kil {3 Hedl AETH]
() SATET T IH TEE.
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(ix) Woe faoaeR Y@l g9 Heaed TR &
(31) wfgg™ weRal
() FerEaH.

(x) WHe dEEnEr dd 9EE IR 39An &

(31) HAAA HIE HAE @

(d) HHET @Sl gl

(x/) Y@ Heddd THADT HEd AEES Tk 66 foal

(31) ©F HEUR

() TTRHMEA  FEiadd.
(xii) qolo Gmiias wea=n foog wed gamEr 96 fagr
(1) USRI
(&) T
(xiii) Jeio v e Famgar e weq fogr
(e1) feoi
()  wrargs.

2, (31) YEoUm! HIUAR Tl WAE SW 100 Ieavdd fowr [10]
(7)) 9™ WS & O WA fafay SEdiE STeredeRREn 9k
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(77) Hfsa MA@ oewdsd st wiven o fera.
(q) Ydo Saad IR OEH hEd drg It T e [10]

‘SRl wie Tl @Rt Wes JIUR U GEY HIVIE AR Ideh AR

TR A S AR BA q9 ANUATSden] Wil Tt STl STEd

T aed | swfY TRIMER queN I9e TR TN UUMEREl GO

LS L | M e i | RO O e A = 4 | B 1| B | S B
[6301]-EXT-102 2




T EEIIHY e Il o :8g8d=l Feoll odid. s a1 A
T A AR hell a8 AW TEYHET O g q frofad T gare
1 = £ P s | B 1 O o | 2 1 O s | O e
Jeggial AMelt HMT FEA A HWosl wo fwer Ifaee R
o ®ed I TEARER HUAEEl iE dER AR gAe SR
fordidel 9 T8 a8 O gRlel oy feawifaur =@ | fear wied
FHET qHA U0 IANRI AOIR AR | UAEael USle d  fsnue
T& WU fHeume Rl gRl J=nRE Read @ 9 S| 30R
TR, fhar @@= U Rt g Fae s o a8 d T veeel
T ATl HOR ARG, o THAT Seed [ER&U HRUR ATRld. S

sfaerdrd SoR o, A1l o TTohror a1 fa=i=amdl sheuid Aqde ASelel

e Idl. g A Td = Hoed T aedid 3T of o wgeal
wUN U, A Hed 9 ol SYArTEl 'L
(TSE= 120)

3. (31) WIGUH! HIVER TRl fao@ER 150 &M FaRoed &0 : [10]
(7)) ‘omsrn famneff — grmeff @t wdenefi’ @ fawmeRr yEE 4
eI AN Hale e .
(77) ‘e TE faEue enfor wrifee arwa’ W fasEmeR €M
(d9) Trdte S 3a-ad AUSd WM 6 [10]

The wise men of all nations have got together to see if they

can find a way of getting rid of war all together. The first
thing that is wanted to co-operation among all the nations.
Co-operation is a big word, but it simply means working together.
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If nations can learn to work together as friends, they will
soon find a way of setting their disputes in a friendly way.
Instead of being jealous of each other and suspicious and proud
of their rights, they must learn to be friendly and reasonable
and anxious to help each other. And the second thing that
is wanted is the rule of law. Just as the citizens of a country
have laws and agree to obey those laws, so all nations must
agree to laws and fell bound to obey and support them. If
all nations work together for the common good mankind, and
agree to obey the laws then they will never fight each other

and there will be no wars.

4, TEoUs! HITAR Tl TE S| 300 Ieem=d fowr [20]
(1) #US Wodia SRTed=l Hiedt 9 o6 dfimes ¥ &
(2) URE WEd WUS ®E 7 d WFF GRE ed Sl SR

M= wlessit =AMl @A o foral

5. YEIoUs! HIVAR! Tt fawamer 300 3emsd fery fomr . [20]

(1) SRedE faare ded
(2) fogFrE=n yORE=E gaEni ARRT SR |
(3) W UawuH wen @ |
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(9) WISBUH! DIAR TehT Y= W 100 I8 foel [10]

(/) HgUES I HATIRMIA SHHQET STl HiadMyd Yehe TR

gy favg &
(77) ‘WEN WU W faW. HARUl A Hwidad SAREERRH e
TR

4, Goeust ‘31 Sfor ‘e’ e 9del @ YAl SW faer

(31) (1) TFE Aftas e @l [15]
(77) ‘' STEE o™ wEl wel AR’ AW HAdier faeel gt o

<.
(777) HoehTeh, Il FHRUMHeS ‘UST 9i'sR Hashard. diedd auiF

.

(F) () ‘T WSCl’ A TEdd wfgden diedd 9iEd wed . [15]
(77) el o wqyHien ‘gadiiel’ s W1 Helwad  ?
(7)) W¥ed URRT A=A HEHEM] A Hfodd oGS THURU .

5. (31) UOGUH! SR ure qiReite g9 e e fewr [5]

(1)  Advance

(i) Agenda

(111) Council

(iv) Grant

(v)  Division

(vi) Section

(vii) Notification
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(vii)) Quorum
(ix) Verification
(x)  Expert.

(9) wWIStod®! HIUAE UTE I8 aeHrasds faagar g &
ferer [5]
(7)) i
7) BT INED
(ii7) favm
(iv) HH==T
(v) =i
(vi) <Igd
(vi) dTRIgeh
(vifi) 3T
(ix) HER
(x) TS
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(For External)

GERMAN (BASIC)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 100
Note —  All questions are compulsory. Use of a dictionary is not allowed.
Frage L. Ubersetzen Sie ins! [15]

(A) Ubersetzen Sie ins Englische! (10)
Im Zoo

Herr Martin Maus kommt aus Deutschland. Er wohnt in Berlin und arbeitet in einem Zoo. Im
Zoo gibt es viele Tiere. Herr Maus pflegt Giraffe und Gorilla, Kamel und Kénguru und Leopard,
Elefant und Zebra. Viele Kinder kommen in den Zoo. Sie finden die Tiere sehr interessant. Die
Giraffe sind enorm grof3. Der Schimpanse spielt Ball. Der Fisch schwimmt im Aquarium. Das
Krokodil schlift. Die Kinder sind von der Delfin-Show fasziniert, denn die Delfine sind sehr
intelligent.

Im Zoo- Restaurant essen die Kinder Spaghetti mit Tomatensofle und Parmesankése, Hamburger
mit Ketchup, Pizza mit Salami und Kése und Bananen-Yoghurt, Vanille-Pudding.

Ein Tag im Zoo ist super, finden die Kinder.

(B) Ubersetzen Sie in Deutsche! (Nur 5) (05)
May one drink Cola here?
She likes to travel.
My brother is reading a newspaper.

1
2
3
4. We met our friend yesterday.
5. Do you speak German?

6

I need a hammer.

Frage II. [20]
(A)Beantworten Sic die folgeniden Fragen! (Nur 5) (10)

1. Sie méchten Tee trinken. Wohin gehen Sie?

2. Was sind Thre Hobbys?

3. lhre Mutter i1st krank. Was soll sie tun?

4. Was essen Sie gern?

5. Nennen Sie zwei deutsche Automarken!

6. Was mdchten Sie werden? ' P.T.O.



(B) Schreiben Sie! (05)
Sie reisen mit Ihrer Familie in Goa. Schreiben Sie eine Ansichtskarte an lhren Freund/

[hre Freundin!

(C)Schreiben Sie einen Dialog! (05)
1. Sie mochten am Wochenende ein Konzert mit IhremFreund/ lhrer Freundin besuchen.

Rufen Sie ihn/sie an !

ODER
2. Sie moéchten heute in die Bibliothek mit Threm Freund/ Threr Freundin gehen. Rufen Sie
ihn/sie an.
Frage III. Grammatik [35]
(A)Ergiinzen Sie die richtigen Personalpronomen! (05)

1. Dieser Pullover ist gut. Ich kaufe

2. Wirschauen Fotosan. _ sind sehr alt.
3. Das ist meine Schwester Katja. _ ist Studentin.
4. Alex und John, was méchtet _ heute spielen?
5. Guten Morgen, Herr Takata, sind heute friih gekommen.
(B) Ergiinzen Sie die richtigen Possessivpronomen! (05)
1. Herr Braun, ist das Koffer?
2. Ich bin Max. Katze heifit Taxi.
3. Das sind meine Kinder.  Schule ist sehr gut.
4. Theodor wohnt in Stuttgart. ~ Sohn arbeitet aber in Heidelberg.
5. Das Buchistneu.  Titel klingt interessant.
(C)Ergiinzen Sie die richtigen bestimmten/unbestimmten Artikel! (05)
1. Entschuldigung, gibt es hierein_ Apotheke?
2. D Maidchen lebt in einem Dorf.

3. Kennstdud Weg zur Schule?

4. Ich kaufe ein__ Flasche.

5. Debra hdngt das Bildand  Wand.

(D)Schreiben Sie das richtige Modalverb! (05)
1. Daniel (8 Jahre) um 9 Uhr ins Bett gehen.
2. Herr Direktor, wir heute frith nach Hause gehen?
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3. Er Spinat nicht essen. Er hat eine Allergie.

4. Heute ist es zu kalt. Ich gern eine Suppe essen.

5. AlleKinder  die Schule besuchen.
(E) Formulieren Sie die Siitze ins Imperativ um!
1. friih schlafen. (du- Form)
. zu Hause bleiben. (Sie- Form)

. leise sprechen. (ihr- Form)

2

3

4. Satz wiederholen. (du- Form)
5. pilinktlich sein. (Sie- Form)
B

(F) Bilden Sie das Perfekt!

1. Ich verliere mein Heft.

2. Wir essen Salat gern.

3. Peter kommt auch mit.

4. Meine Mutter ist Studentin.
5. Du kaufst eine Kamera.

(G)Bilden Sie Fragen!

Dienstags und Freitagshabe ich Tanzkurs.
Der Kaffee kostet 3 Euro.
Meine Eltern gehen ins Kino.

Nein, ich habe leider keine Zeit.

Mein Famlienname ist Schmolz.

Frage IV. Wortschatz

(A) Was passt nicht?

1. Tee — Milch — Gemiise - Cola.
2. kurz - alt — Zelt - nass.
3. backt — zwei — acht — fiinf.
4. Computer — Brief- Rechner — Handy.
5. Hund- Katze — Schwein — Bein .
(B) Schreiben Sie das richtige Wort!

1. Arzt, Bécker, Reiseleiter. Das sind alle

2. Juli, April, Januar. Das sind alle
3. Wasser: blau ; Baum
4. Bleistift: schreiben ; CD: .

5. Christine: MadchenPeter:
[5301]-EXT-104 3
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(20]
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(C)Welche Worter passen zu dem Thema? Schreiben Sie mindestens S Worter (10)

pro Thema!
1. Eltern 2. Wochenende 3. Deutschunterricht 4. Hobbys
Frage V. Lesen Sie den Text und beantworten Sie die folgenden Fragen! [10]

Samstagmorgen. Es ist sehr kalt, aber die Sonne scheint. Der Himmel ist blau. Uberall liegt
Schnee. Das sieht wunderschén aus. Wir sind in Unterjochen im Allgédu. Ganz im Siiden von
Deutschland.

Ich hére Hunde bellen. Es sind viele Hunde. Ungefiihr 500. Die meisten sind Huskies. Sie sind
mit ihren Besitzern aus ganz Deutschland, aus Osterreich, aus der Schweiz und anderen
europdischen Landern gekommen. Hier in Unterjochen gibt es jedes Jahr ein internationales
Hunderennen. Diese Hunde laufen gern. Sie lieben die Arbeit. Faul im Haus liegen? Das mdgen
sie nicht! Sie lieben die Kilte! Auch in einer kalten Winternacht will ein Husky drauflen
schlafen.

Ich treffe Markus Untersberger und Yukon. Yukon ist ein Husky. Er ist grof3. Seine Farbe ist
schwarz und weil. Schon geht das Rennen los. Markus startet mit seinem Team. Die Hunde
miissen wissen: Soll ich langsam oder schnell fahren? Ich sehe Yukon und drei andere Hunde.
Das ist ein Team. Es gibt insgesamt 80 Teams. 19 Minuten spéter ist Yukon als Erste um die
Ecke mit 25km/h! Markus ruft laut: ,,Schneller, Schneller*!

Hurra! Markus und sein Team haben gewonnen. ,,Gut gemacht!** lobt Markus seine Hunde. Ich
gratuliere Markus und mache ein Foto. Néchstes Jahr komme ich wieder.

(A) Beantworten Sie die folgenden Fragen! (03)

1. Wo ist Unterjochen?
2. Wie viele Hunde kommen? Und woher kommen die Teams?
3

. Was machen die Huskies gern und nicht gern?

(B) Richtig oder Falsch? 04)
1. Inkalten Nachten schlift ein Husky gern im Haus.
2. Yukon gehort Markus.
3. Die Hunde verstehen langsam/ schnell laufen.
4. Yukon und sein Team haben nicht gewonnen.

(C) Suchen Sie drei Adjektive aus dem Text! (03)
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GERMAN (ADVANCED)

Time : Three Hours Maximum Marks : 100
Note — Use of a dictionary is not allowed.
Frage 1. Ubersetzen Sie die folgenden Texte ins Englische oder Marathi! [24]

A) (08)

Fliegen ist langweilig!

Vanessa fliegt oft von Deutschland nach Indien und wieder zuriick. Sie erzihlt ihren Freunden,
warum sie nicht so gern fliegt:

Ich fliege nicht so gern, und du? Das Fliegen ist meistens nicht so angenehm . Bei
internationalen Fliigen muss man zum Beispiel zwei Stunden vor dem Abflug am Flughafen sein.
Und die Flughéfen, die sind ja immer weit weg vom Stadtzentrum. Da muss man noch eine
Stunde frither aus dem Haus. Und dann noch die lange Wartezeit in der Flughalle!

B) (08)
,» Ich lebe auch sehr gern mit meinen Freundinnen zusammen. Aber manchmal gibt es auch
Probleme und Diskussionen. Wer kauft heute ein? Wer putzt? Wer darf am morgen zuerst ins
Bad? Wer darf welche Sachen nehmen? Gestern habe ich zum Beispiel mein Lieblingseis
gekauft und heute ist es weg. Angelika oder Rosa oder Freunde haben es gegessen. Am besten
schreibt man alles auf einen Zettel: ,,Das Eis ist von Linda. Bitte nicht essen!* oder : ,, Angelika,
bitte heute die Kiiche putzen!*

C) Ubersetzen Sie die folgenden Sitze ins Deutsche! ( nur 4) (08)
1. Tom neither has a telephone nor a radio.

2. My English is good and I also understand Spanish.

3. The boy’s name is Jan-Peter Bauer and is four years old.

4. Natascha Schmidt likes to draw tattoos on her own.

5. The youngsters enjoying being with friends.

6. India has won the Cricket match against Pakistan.

Frage 2) Beantworten Sie ze/in der folgenden Fragen! [20]
1. Nennen Sie die Nachbarldnder Deutschlands.

Welche Rolle spielt das Brot im Leben der Deutschen?

Gibt es Konflikte zwischen [hnen und Ihren Eltern? Schreiben Sie kurz dariiber.

Was wissen Sie iiber Frankfurt ?

Welche Werte sind fiir die deutschen Jugendliche wichtig?

Was denken Sie {iber Piercing ?

Wie geben Sie Ihr Taschengeld aus?

Nennen Sie drei Fliisse in Deutschland!

PN RN
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9. Wofiir ist Pune bekannt?

10. Wiirden Sie gerne in einer Grofifamilie wohnen? Begriinden Sie Thre Meinung!
11. Was erlauben Ihnen Thre Eltern? Was ist fiir Sie verboten?

12. Wie feiert man in Deutschland den Nikolaustag?

Frage 3. Lesen Sie den folgenden Text und beantworten Sie die Fragen! [16] -

Dumm gelaufen!

Eines Tages war ich mit meinem Freund Darek verabredet. Ich fuhr zu ihm, klingelte, doch er
war nicht da. Nach einiger Zeit rief ich ihn mit dem Handy an und er versprach, gleich zu
kommen. Ich war ein bisschen bose, weil er mich so lange warten liess. Deshalb beschloss ich
ihm einen kleinen Streich zu spielen. Ich versteckte mich hinter der Tiir und wartete auf Darek.
Die Tir ging auf. Ich sprang hervor und rief ,, Buh!!!* Ich hatte Pech. Es war nicht Darek
sondern seine Mutter, die sich fiirchterlich erschrocken hat. Ich entschuldigte mich sofort und
erklérte ihr, dass ich das eigentlich fiir Darek vorbereitet hatte. In diesem Moment kam Darek
und sah, dass ich mit seiner Mutter lachte. Wir erzéhlten ihm die Geschichte und er hat sie spéter
allen unseren Freunden erzahlt.

Albert Barun, 13, Miinchen
A) Beantworten Sie die folgenden Fragen! (06)

1. Warum versteckte sich Albert hinter der Tiir?
2. Warum hat die Mutter von Darek einen Schock?
3. Was heisst ,, dumm gelaufen*?

B) Welche Antwort passt? (02)

1. Einen Streich spielen heisst,
a) ein Musikinstrument spielen
b) mit jdm. etwas Lustiges machen, um einfach Spaf} zu haben.
¢) ein Versteckspiel spielen
2. Ich hatte Pech
a) Ich hatte kein Gliick.
b) Ich hatte kein Geld.
¢) Ich hatte keine Zeit.
C) Richtig oder Falsch ? (04)
1. Albert kam spét zu Darek.
2. Die Mutter hatte Angst, wenn sie rein kam.
3. Dareks Mutter hat Albert geschimptft.
4. Darek ist dumm.
D) Suchen Sie Gegenteile aus dem Text! (04)

1. gliicklich x- 2. weinen X 3. frih x 4, verabreden x
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Frage 4. Grammatik und Wortschatz [35]
A) Bilden Sie das Perfekt! (nur 5) (05)

1. Meine Nachbarin ldsst den Hund immer los.
2. Der Dieb sieht den Polisisten kommen.

3. Ich konnte sehr gut malen.

4. Ich lasse mir ein neues Kleid machen.

5. Frither durfte man hier parken.

6. Der Postbote verteilt die Briefe.

B) Setzen Sie die folgenden Verben in Priiteritum ein! (nur 5) (05)

(pfliicken, wissen, zerstiren, studieren, fahren, bestehen,)

1. Frither die Familie aus fiinf oder sechs Personen.

2. Die Méddchen schone Blumen im Garten.

3. Die Hotels, Skipisten und StraPen die Schonheit der Alpen.

4, Er nur bis Hamburg.

5. Gibt es heute keinen Unterricht? Oh, das ich nicht!

6. Frither man nicht im Ausland.
C) Ergéinzen Sie die Adjektivendungen! (05)
Einmal war ich bei einem sehr gut  Freund von mir in seinem neu___ Studentenheim. Das
war ein zwar klein___ aber gemiitlich  Zimmer. Die Kiiche war aber ziemlich grop . Da
wollten wir etwas Lecker  kochen. Wir kauften frisch_ Kartoffeln und machten einen

schtén__ Kartoffelsalat und kauften auch frisch _ Brot dazu. Hmmm! Das toll  Menii, kann
ich nie vergessen!

D) Verbinden Sie die Siitze anhand der folgenden Konjuktionen! (nur S) 05)
( entweder-oder, weder-noch, einerseits-andererseits, nicht nur- sondern auch, sowohl-als auch,

zwar-aber)

1. Der Film ist lang. Er ist interessant.

2. Du brauchst einen Schirm. Du brauchst einen Regenmantel.

3. Die Héuser sind alt. Sie sind sehr schon.

4. Sie ist gut in der Schule. Sie ist gut im Sport.

5. Die Kleider in diesem Geschéft sind preiswert. Sie sind auch modisch.
6. Das Radfahren ist gesund. Es ist auch billig.

E) Bilden Sie das Passiv! (nur S) (05)
1. Der Mann hat den Brief eingeworfen.
2. Sie haben das Paket nach Deutschland geschickt
3. Zuerst wischt man die Orangen.
4. Man renoviert das ganze Gebéude.
5. Man tanzt in der Dicko.
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6. Man hat meinen Geldbeutel gestohlen.

F) Bilden Sie Nomen! (nur 5) 05)
l.unterrichten 2.ankommen 3. selbststindig 4. beschreiben
S.verabreden 6. anfangen 7. priifen

G) Wortschatz: Ergiinzen Sie das passende Wort! (05)
1. , heisst dass mehrere junge Leute eine Wohnung teilen.
2. In der Vorweihnachtszeit basteln die Kinder einen . Er hat
24 kleine Tiirchen.
3. sind Arbeiter aus den anderen Lénder, die in der Nachkriegszeit

nach Deutschland kamen.
4. Weihnachten und Ostern sind .
5. Man sagt ** **, bevor man anféngt zu essen.

Frage 5. Ergiinzen Sie den Dialog! [05]
. '

: Mir geht es ganz gut, und dir?

. Hast du am Samstag Abend Zeit?
:Ja, ?

: Ich .

: Ah, toll! Und du gibst eine Geburtstagsparty, oder?
: Ja. genau, so mit Freunden.

9

: So etwa um 4.00 und sie dauert etwa bis 9.00 am abend.
: Ok gut, Danke fiir die Einladung. Ich komme dann um 4.00.
: Gut. Bis dann!

>PEPEE TP WS T
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Total No. of Questions—5] [Total No. of Printed Pages—2

Seat

No. [5301]-EXT-106

F.Y. B.A. EXAMINATION, 2018
(For External)
GUJARATI
(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

yst:- 4 o{lAetl Higll 51 uel Als [Aua uR ol vl

[20]

1 dHal -l Newsl

R ol uilew usld

3 oEcldl duHst

¥ audl odl deousl
Ya- 2 58 UQL A5 Yl oll AARAR Grir cvll. [20]

1 opsRldl AR Hl o WE @QQuc ol ey 8. uHAA.

2 UL Actott oll (et A % UL cABcet ofl AM(&." UHHLAL
Y3 56 Ul WS Ust oll AR Gl cull, [20]

1 sl GrugisR el ol sl 1 aglacll gl

2 Guuais? Blall ot steat Qadigull stea ui FHictL of aglet.

P.T.O.



ysly () sollu cull. (518 uQLAls) [10]

! nogcall $cll %3] HE" W sECUct WUHR Yl o AR UMl
2 Rt ofl udell QuHel iR wiH ofl o celal,

(o) gsolltl AVL (518 URL A5 ) [10]
! ool slea1ia16 oll Gl sleal Hi arlad UalR of aglet
2 "5l HEl otef & (A Hiotcl HI8 U3 Yo detiiol" GHLelsR el ol AGEL i UHoA A,
Ysl U () yalur ol vl (As aeL Als ual) [10]
1 el Ae@ ual o1l rgld-dlu,
R U R Al 9 UL 1Y? &3 FH 6l oll E?
l3 AN w2 ole cll 24 UAFL A 32
¥ Aol Al ARA Al
[10]

(Gl)  UAQMol
AHIRL olloll GULES ol cRllRUM of HEecl MM Al UA AL

AUl

WS Avtol

AHZ] Sl Ml 2L R H AR oll HB3 A U3 WS AGELHT AVl
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [6301]-EXT-107

F.Y. B.A. EXAMINATION, 2018
URDU
(For External)
(General Paper I)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
N.B. —(1) Attempt All questions.
(2) Figures to the left indicate full marks.
(A) Bang-e-Dara Part-1.
(B) Chand Hum Asr by Maulvi Abdul Haque.

Y AU Pad ROy
[10] _éugJ‘j”K;@/l/,ié/t‘Jd/%(y,uf —
L
_Zj.lffugru’.ic;u’(}fﬁ”ﬁﬁyﬁfy

[18] -éu:’:‘,»muﬁ?;umw/éfu _r
b
-iuyjcg}ifﬂdr"édjéfb

[10] RN P TRV U [T
L

S ST Uil e b S UG e

P.T.O.



[19]

['7]

['*]

[IA]

_éu‘?’u’/’lg Kc«:“f’:)c«jd/uﬂ’;@ -

L

Ay AL C P oY S Fiar $o

JEE O

s TS (D)

Ju ()
:éay’lgﬁsgflé.g‘f(
s espae (D

Sl (0

GBI JIESIS ()

AR o) NF NTPRYHEINAYS
G206 e Jditus ()

Gl N6 L sk

ESCAATI- ALV A

& éfb.,‘l'é};l;ufff

S, LN, ()

ol d/%z_iugﬂz b

L L Sy JB $Sr kAL (L

(o)

()
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LI BT Bl A2l
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ik Fuiy,
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Total No. of Questions—5+5] [Total No. of Printed Pages—10

o [5301]-EXT-110
F.Y. B.A. EXAMINATION, 2018
(For External)
HINDI
General Paper 1
(2013 PATTERN)
oy : dE ue quties : 100

UeagEe — (1) @ d¥d — HURH : . TeE OER|

(i) ®F WA — HUGH : . YR A |

WT@:— (/) |t g At ¥
(77) <fet 3R fa@ % g & qois T
1. ffafes & 4 & 9) ool & s fafew . [20]
() o] AR iR W @ & fHEar @1 9 &ifswl

(7)) Ufed T@rteas & YR W YuE © &1 AfA-Tasur sifsu |
(i) ‘T’ wEHl & wWgfag &1 Ao foRmmn fafe |
(iv) ‘T & &l 9@’ wEHl w1 Igevd fafen)

(v)

‘g@' wEMl % Wi I AT kI HIREU TR RIS

(vi) ‘WM &t HiYet’! weMl & YR W HeMRE Siad i Al

o [aWa

w1 fag=m wifsw|

P.T.O.



2. fAfafed # 4 fo<l 9) ywAi & sw fafeq . [20]

(H ‘I R I vew ¥ wfaa H wfa 7 e w1 fog-=mewn fwa
i # faf@ # % 2

(i) ‘TrR-fERk @8 W ¥, TW wfa b wed § 2

(i ‘g9 T A’ wfaar § e SfeleM @ 9EET @ TR &It

(7v) dUfed wfad & STYR W HA IR 3% dg &l feafd &1 v
IS |

(v) ‘Sh foamd dred € wfaar § wfa 7 fea 9 o1 #wew wfqufeq
feam ® 2

(vi) ‘Za dfgd’ wfadl &1 JdiwrcAsal &l &Y § HHAEC

3. (31 fmfafeq samon § @ fFsl & & 9dcyd = s @ [12]
(/) “EU9 Ugd dreft el i W I A d hiE TadA AT
R | A @ W T qgEH, o8 dl "W Red A A
g St eft )"
(7)) ‘R w1 SAfoH HERR TE wA @ kA qH B AR Al @I

”
|

)

=

Hel hel SThl oA R

(7)) "9 T AR AN W-TER 99 I T ¢ W S Al &l

-9 faRel wdt g1
(M) frefafed ool 4 & fo=l §F #1 wHed =ren wifsy ;o [12]
() & W Taa ¢ foafra & oaw Sue-m Y
W T & Rk § 79 Iqa &l SHed I
[6301]-EXT-110 2




(i) TR AR HA H @
e g1, e !
gt § w1 g-feo #
®d Tl w1 e
(i) S 99 W T—I@ ¥, 4 FeEA ¥,
T TJH-7H Hal w1 guT off Ifeu)

4, (1) frafafea oRwve o=l § ¥ 6= o6 & f&dt g fafew : [8]
(1)  Act
(171) Concession
(1) Capital
(iv) Delay
(v»  Employment
(vi) Formal
(vii) Goods
(viii) Medical leave
(ix) Officiating
(x) Salary.
(1) Frefefaa § @ frdl ®: A @ Y WS fR @ fafaw : (6]
(7)) Tg H 9 A T
(i) T A TENER TR T
(fi)) 3T TH Fgd IH Tl
(iv) & HI H dgd W@ g
(v W 99 €@ T H A T R
(vi) el T8 Th a8 IR T
(vii) 3TN &1 o7& @@ 4 GR ©|
(viii) 9 T T &k U T
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(3) f=afafed & & fFdt e ufee &1 f&St # sigae wifvw @ [6]

(1)

(11)

[6301]-EXT-110

s Idd ocald 3T9dl. Yodeh &0 oA o1 ¥l ¥ed 319drd.

TS S ST 37!, 31 A THERl g% wrhdl. TS Sl WiTdit=a
RTEER %e 377, 9 3qa1 Aadi=al @id dd Jereiel el

TUE S S Tl SEoSidl BUlEd 3T9dl, A 3adl SE-a1 RUMYe
T AqHEs golen fogd Al Fee T% R OIEKEE  STEd.
TATEAR T8 1S Jaa q@ia I8 <oha fogd Iam. a1

G SO A B e SAThal Tl Al HH SA Hehla!

foaEE fHed. A HlerEl SR el SR ’Id,  odTel
g o fiea @

Times keep on changing all the time. Some new incident
occurs almost every movement. A king one day may find
himself begging on the streets on the next day. One
who is at the peak of progress today may go down deep
at the bottom tomorrow one claiming to have conquered
the world today may be completed to fall down at the
feet of someone else next day. Time is amipatent even
the supermighty are often seen kneeling in from it.

Of course those whom if favours achieve anything they
desire to achieve, quite easily effortlessly. But anybody
who is out of its favour will final assistance from nobody
and becomes totally helpless.

4



AT
ffafea afi=ss &1 Th-Taeg vl § 9R-oed &Y 39 3fua sft®
IS I
et off <o W w@ & fau Soam qen foee S @ Hewqe )
fedl Tk & fom @A gUEa @1 W GhaTl Al B GES o (&
%, fog =& @l § fy=ar fowE vedt 81 ™ WY ¥ o<W &
T R T A I Y TPy wal ©) fE oft forer w1 swRatfaa
SaM ¥ HE Rt gl Wl AR i e e eeR R
# IW T 9% D UNING, AMfgw dq Afaek fawm w1 sHw
g, 9 W =afm, waw qeon e falk ®1 fees & e € wE
drg e 99 geEa T o e W 8w uRed § wifa e
A T AR AEHw ARled 3 gftan @ femn fem ® fF foee
fF § FE T I8 T TH IEE W Rl TSI @l gl SHH
aifereh 9 We I WSSl g
(3) fmfafed w= 4§ 4 f&df T 99 & IEI @R FKISC : [6]
(7)) Ieed/ARIeE AR, WoR TR, AR § Y=, T Aeliaeaned,
SEACTR ! fedl A= o8 & fau syoga-4 foremy/ faed
gl
(i) wAS/EAE AR, Bl R, gfden 9 sFHi YeRM S
ik qO S TTorq fhare A9 & RO e o foem)/ forerdt

7

5. fafafea & ¥ fodt e fom w fey fafew . [10]
(/) OSSR : Wk SHcien  SHR
(7)) TEIA G Aw-wA
(7if) Wfgd AR FHS |
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[56301]-EXT-110
(wasmgeter &) (Functional Hindi)
T ;A "e quties : 100
ged — () |t g e )
G el o e e ol @ mE E

1. (8 fAfafed sast wiltfie o=l 4 9@ f6el | 3=l & fedl Wi
fafEm [10]
(1)  Administrator
(/) Bond
(1) Credit
(iv) Designation
(v)  Full value
(vi) Grant
(vii) Historical
(viii) Liaison officer
(ix) Memory
(x) Mayor
(x1) Oath
(xii) Project.
(s frafafea § 4 fosl @@ Wik ifesl ao fog &1 aFs f&
Fadt & Igur fafem [10]
() bH4
(i) 12 x 5 = 60

[6301]-EXT-110 6



(i) 38 + 4 = 9.5
(iv) 37

(v) 90

(vi)  79%
(vi) 46 — 6
(viii) 1/4

(ix) 3%

(x) 98

(x1) 77
(xi1) 100.

40

2, fTr=fafed s & & forsl €9 a—RI &1 AFe addt & TUR W [ Hh
i 9 fafew [10]
(7)) VoEUR & AeF-geEl w1 §An B e
() =@ d-wwd e SmEoeft
(i) UfA-9cf & TS HT ¥ FN @ Thal § ?
(7v) HUH A WH W HSR HIAEM Rl
(v 9fed 3 38R § 9 o
(vi) A0 9 $ft AM< AR ST T

(vii) 3T TH YhR & WS o< T

(vii) 39 a1 H Ui & HHF 9gd & geedl gvd ol ol
(Ix) <Y H IAHM HoEl STl ST TRl ¥

(x) THh A 9 999 Al |

(x/) STU&l 9,

(xi)) 39 @l ¥ ST\I'H\W gl
[6301]-EXT-110 7 P.T.O.




3. (%) frafafea o= &1 uew-faeE o=l # 9r-oem w39 3faa wits
IS [6]
AU dNR W 9RdT 3an, faqeft S 9 <Fh o i &l

FY YgT H ? I8 UH 9gd ISl gHA S| YE-IYE H W F d-TA
T gd & & Al ® T W OWeR 7 qeI I hl Heequl
ftiRt Tt | Usefed O STURYd N ! SAERIhdl Tl THId BT
Fgd § TR & 3 YRR ¥ WU YEHE fHa AR v-facw &
Ufdgsl STRT g Hehlaal i @l ¥ A i LIS hIVNT &l TR |
fUsel i <3l H o #Weoqul &S H %3 SENl A HIhl I
T eI TE SRRt afg & &5 § TFelidad SEr & AT
T TR ISE W™ @ T &t fabr@ amn 4 garfad gu fomr =48 @

ISR
(31) Frafafed @i # @ ffdl @ @ & YWY @R HEC @ [10]
(1) wer/fkeEdt Hifed, HW TR, @S § 9Rd HgeR T fafies,
faura sifvar, werereRe s IR M e @ st

Tg ®q MOGA-UF TgW dfed feremy/faed )
(i) daa f&t fovafoeem & &S fourmas, ‘fave & foow’
% Toie H wnfie 2M }g Sf gAY W, ey, <™
fedt feymem, we goeE fawme weeE, 78 feoett &1 fEsm
o faen T
[5301]-EXT-110 8




({i)) Hdhl <NUE, W9 TR, foswl, Ty T @@ srigs, 74
Trf, TR w1 ErE YSidt # @ W@ fHemae & ged A et
1o foedt ®1

4, (31 frafafed & 9 fed <t fawdl ® fags &1 91 @R & ;o [10]

(/) HEMR M &t HE-F=0 I3 9l Hue et w1 fa-me |

(7i) TS FAd H TaAEA|

(7if) T4 W 6G WA o fagmad|
(iv) B9 w1 foammaa

(am) frAfafed TuE Stear st ufiese &1 &t § omar =ifsu @ [6]
T SR heied I3 AGEW A 3Aed; e S Tesel]

o (a

3MRd. PUT Hed dhled GO AT Thosdld. Hhldd I
||E"‘

e
The typewriter machine is out of order since long time and
work has been suffering. Please ask the company to attend
the machine immediately. As I pointed out to them on the
phone today we have not asked them to send us any estimates

for it.
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5, (31 frafafeq oeda gwe 8§ 4 fodl @9 & s fafew [18]
(nH &t 9w & fafay w9 fafew)
(7)) SHEER & YgE "WegHl w aiem S
(777) TEeEas fidt & fafaw sdEast &1 i <ifew
(7v) acs & Tu fafen
(3m) Trfafea foomi § @ fodl wm w fewfEl fafee - [20]
() TA-UEd % GER
(i) wEASges f&d @t fodand
(777) TR &1 HE
(7v) Wifgfcash o
(v) FAR kT Hed
(vi) ¥HaR HEM |
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Total No. of Questions—5] [Total No. of Printed Pages—4

o [5301]-EXT-112
F.Y. B.A. EXAMINATION, 2018
(For External)
SANSKRIT
(G-I : Surabharati)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100

g — (1) |d Y AaE sed.
All questions are compulsory.
(i) ISEheEl® ek O IRIfaan.
Figures to the right indicate full marks.

1. ‘s enfor ‘g’ fourTdia Yl SR S@ie TR STET TS TSI
ETUE [10]
Translate any two from ‘A’ and B’ sections into Marathi or English :

‘31’ H9T/A’ Section
(7)) 9 A AU AR T ARICSRSSHAR, TR | o U8t
SMEIEEY a1 YR [RG: | | AAISSSUr WAfeasd gerym fafrveeae
o1 SRSH HRdl Yae 1 vafqaiagagion] a9 : AHaG!s JalifeTRyfde:
v foem sufoe: volier AT ST AR garen
qqad = lih: URYA Tieh: Gelor o ar |

P.T.O.



(77) A — | TUfEaueTeiEed | wwErde W Sead |
(3fd wF=sfa 1)
T — S8, HEECHER] Ffaqfam g |
ST — ged ARafdl (3fa fswTn))
oS — <@, FM § gEAuEse q@ fAfden e

TS —  YIRaH |

(wfere)
ST — ﬁﬁﬁwaﬁmﬂgﬁﬂm ﬁﬁ'ﬂ:l
(7i) TFHEISETIREIqd a1 Faf=d qAifekild wed  JURaHcHR T
YhATH: ARG ISTAIcHI e afeeadH: Fai fagn w1 afedo

o [N o

SAfd9cl AR Goh/M Tehol: hohad: | a1 fg 9¢ o=@ gEM

YA W ITEHa |
‘¥’ fawm/B’ Section [10]

() TR THIHANAMNE  wEeegyad
F1 Al gAfagecst P Waistw 9 S|
W@ d FHUEEH YU JeReae -
S JEAIRNiGehdT ATl R0 T STl
(77) 9FA Taa el fenfagees g
Yenfd  afy=m EIRK et mUrSﬂ'rlﬁ: Il
STSTeS=NUAN  JaeHal< = |
viyasgfed g wefew: wisaard: |
(7ii) TR [T v
@T&ﬁ oo |
lER IO IR A

ToRIfaes A8l qUgLET i
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2. ‘&' efur ‘¥ faWrdid YS! SEY GeHiEE WSO & ;o [20]
Explain with reference to context any ¢wo from each sections,
‘A’ and ‘B’
‘3r’ faum/‘A’ Section

(7)) q@AEH: YoSegegd  HHEE |

(i) T 9 FA URASEE gH: TAGH: |
(777) AdETUERLEd Sfifad 999 9 Sifad @
‘q' faum/‘B’ Section
(/) AcHIRTE FHE: Haufaasd o |
(7)) o IAUCE TS SR
(7i7) T=seay fe Af<, Achagar JEEes Hid: |
3. HIUAR Tl Y ok Iar fagr [20]
Write an essay type of answer to any one of the following :
FAYHURER= T AFE @IS HIO[ WO ohdl d TS L
Which preparations were made for F9¥HUIR®E and explain the speech
delivered by TS in the same.
f&ar (Op
4. foopmten ‘doua=d’ wdtd TeEd 9 T A MR R0
Appreciate a story ToEA 9 T from UsEdA of T. forsureTHi.

4. DR TR T FfowR 3Iax famr - [20]
Write an essay type of answer to any one of the following :
Appreciate a dialogue between ®U and .

fewar (O
URAERGYTE: IS TR0 .
Appreciate a lesson ‘WRAARGRIE:'|

[6301]-EXT-112 3 P.T.O.



ST 4 e o) M 1 0 B i W o e o 2 o O S [20]

Write critical notes on any ¢wo of the following :

(1) IRl Hiffldad difshes U9 &% 0.

fehs U9 as explained by A=aeH.

(i) ifcar=al TEA ME  SfaUATEEdT el
Advice of ®Ife on constructing new village.

(7i7) i@ fRgofavges  fo=r.
Views of hIfcigl¥ on education.

(7v) ‘SATEATEEAR’ A AT fagd AU el SARTER.
Optimism of a poet as reflected through ‘SmEa@aR ' paragraph.
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Total No. of Questions—5] [Total No. of Printed Pages—4+2

i}eat [5301]-EXT-115

F.Y. B.A. EXAMINATION, 2018
ARABIC
(For External)
General Paper I
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
1. Translate into English or Urdu or Marathi any ¢Zwo of the following

passages : [20]
L/s'?gi o) (o Al iV L s 52 u“fjgj\ e ol A ()

St T T PR
oj,.,/a L?— O-’sn..o..l.lj‘ _.h:..&a..".jj..h J«Q.ﬂ.j‘ LS% J‘""? L?— v\.:..&.l.:.j‘ —OJ jj""""a

-

&

)y VT Cn e b el 3 ety SVTAR S s fadll s
sl S VI 8L 55 3h gl 3 U YT sate a k)
e LS_H C>U JJJ\.AJ‘ _KJL;}_‘;.—B Gl L/S_e —J"\J—Q—M Ls_e

e

| B-R R LU A% SN EON | gl [ U Ly Byt [ D g

P.T.O.



el Al S5 Lo el e £ IS (o)

-
-

HE DI e o St SR PT - JEA T LIy Sy

- ER
-

szl ‘}..»ﬂ_/j :\.:\:— -

B Y |

T - - - P - e 2 - -
~2 9 g.')L;\.H B J.s.sb_w _g..)\_:.j‘ dj_b é""?"‘“’

*‘“ PR 2

.w\.:.é L;M:.j} ;}w\.:..l.” cl.;-j 9J>;=>=.H

—\

L/Sl"; C:O} .;\.f L= ;.Ja; _5;.:’-
Jals s _g il e LT S5 5 aalll, add s s e S

P

¢ 2 -

) 3 gas s LT S A el
Jag ax 5l A 5T 1) ZLLS epsd) IV CR3T A5 15301 s LT )

I 5{

i 5 OV Jeadl J s ST L2 50 as ) b Andl 8o
SV AT a5 LS LS e, W,y DS

Sl Ll kel 5 UV Je Jwis § Al i Jm s el

@
S
™

OT, AN 5 53 3V sl all 1,405 ol e ased) (I Smds

-

_uwjiﬂ g:,..’J.g:} _C,._:...\.;n.”}
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P.T.O.

Explain with reference any five of the following verses :
Il 501 Ja)
oS SaST

w -

B 2 B -

e .
s 02 st SN
TN

2 -

S 5 has A
- v £ 2
C./‘)Lx% L,‘.M f jlxé \..3
G2 o e
e - s 2
g’;‘)\..:b\.xj‘)jj.& B
z 7 .3 e,
(W L,:.SJ\.M)/)\.A‘)
P w8 > z -
C;)L.@.k;j‘ J.f R 3)\«3 L
L el G
P Pl A2 -
Dl sedll G
Olagid) e JA5 6 S 16

O 5Y) Jof s Y

QY

(V)

()

()

()

QY

Y

(Y

[20]
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(A)  Define and illustrate any £wo of the following : [15]
sLaVl el (V)
Slezdl ()
AR BLE ()
el el ()

(B)  Write the answers in Arabic any five of the following : [5]

FUPESR N NG
?L.Q.L:.HJ\ (™)

¢S BB ()
il e G 2 (0)
Ol G ) (V)
Tl S IBL (Y

€O ol aal e (A)
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4.

Write the long notes on any ¢wo of the following :

(A)

P.T.O.

ol andl
) Fx N @
() L O Ol

iS50

Translate the following into English (any five) :

2 2
_azb & b Jf\.p L/QHLQU

PO )

¢ il ) 84T L

2 w

A2 -
_as L as sl b

w

P P P 28 P P 2
g LS e aldls el

- - . \ Y] [
LAk g () ald sa
- I S

28 8
_o j,;.,,.{ dxs L) 4y A=

2 e .

Q)

(V)

)

()

QP

QY

(")

()

(®)

QY

QP

(N

[20]

[10]

5 [6301]-EXT-115



(B)  Translate the following into Arabic (any five) : [10]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

This bus is coming from the college.

His office is far from his home.

That chair is comfortable.

She is busy in her office.

The television of Farida is in her room.
He is going to the house of his teacher.
The little boy is naughty but intelligent.

I went to the house of my friend.
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Total No. of Questions—5+5] [Total No. of Printed Pages—5

o [5301]-EXT-116
F.Y. B.A. EXAMINATION, 2018
(For External)
ECONOMICS
G-1 : INDIAN ECONOMY - PROBLEMS AND PROSPECTS
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
NB. — (1) All questions are compulsory.
(z) Figures to the right indicate full marks.
1. Attempt any one question of the following : [20]
(a) State the characteristics of Indian Economy as a developing
economy.
(b)  Explain the problems of overpopulation and explain the measures
to control the population in India.
2. Attempt any one question of the following : [20]
(a) State the causes of unemployment in India and explain the
measures of eradication of unemployment.
(b) What is the Agriculture Productivity ? Explain the causes of
low productivity of agriculture in India.
3. Attempt any one question of the following : [20]
(a) What is the Industrialization ? Explain the role of Industrialization
in Indian Economic Development.
(b)  What is the Industrial dispute ? Explain the causes of Industrial

dispute.
P.T.O.



4. Attempt any one question of the following : [20]
(a) What is the Planning ? Explain the different types of Planning.
(b) State the causes of regional imbalance in Maharashtra and

explain preventive measures.

5. Write short notes (any ¢wo) : [20]
(a) Causes of Poverty in India
(b)  Special Economic Zone (SEZ)
(¢) Social Security
(d) Water Management

(W& waiav)
9% : 9 a™ THUT TOT : 100
ol c— (/) Wd WA uefau oeREsd o
(77) 3SSEiwele Fh YUl U SFiforra.
(777) WSHEE! He3 SUSH WYAALART Tl

1.  Trciade! HUAE Teh Y99 dedl [20]
(a) fowrualE stdfoemer ®UE 9RdE steforemd=h Aftrew @i
(b)) YRare AfaRed haea=a T9& U dierden fAasomEee su™

ooe  h.
2, Eiads! ®UERE Tk Y9 dedl [20]
(a) YRGS ShR=l IO T ST bl ] ShI0IMES=AT SUTFASTH

W H.

(b)) FH IUGCHA WIS &M@ ? HRAMIA el ScaGehdl hHl ST
HNO TR HA.

[6301]-EXT-116 2




3. WiicUs! ®IUdE Ueh 999 diear [20]
(a) STCANTHIHIT UN HE 7 ARAT=N A foehramdiea sigafien ot

T TOse .
(b)) SRR Heg WS &E 7 ANE Hererl DRI TR HA.

4, Wl HIVAR! Tk WA Gredl . [20]

(a) onfs fEeH wos w ? nfe feeAme fafay yer o= .

(b) TERISITAA WIef¥Teh STaHQIeT= SRl 9 ST Wef¥Teh el Aevards
U T H.

5. dieRa fear fo@ (FvemE ) [20]
() WRAe SRGAET wR
(b o enfie & (FF)
(¢) GmIfSIeh  gRiErdan
(d)  STTHEIYT

[6301]-EXT-116 3 P.T.O.



[5301]-EXT-116
G-1 : AGRICULTURAL ECONOMICS

Time : Three Hours Maximum Marks : 100
N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Attempt any one question of the following : [20]
(a) Explain the role of Agriculture in Economic Development.
(b) Do the evaluation of National Rural Employment Guarantee Scheme.

2. Attempt any one question of the following : [20]
(a) What is Green Revolution ? Explain the achievements and failures

of Green Revolution.
(b)  State the importance of agricultural finance. Explain the sources

of agricultural finance.

3. Attempt any one question of the following : [20]
(a) What are the causes and preventive measures of farmers’
suicide ?
(b)  State the importance of irrigation in agriculture and explain
the main types of irrigation.

4. Attempt any one question of the following : [20]
(a) Explain the problems and remedies of agricultural marketing
in India.
(b)  State the objectives of ‘W.T.O.. Explain the impact of WTO
on Indian Agriculture.
5. Write short notes (any ¢wo) : [20]
(a) Cropping Pattern
(b) Food Security
(¢) Minimum Wages Act

(d) Micro Finance

[6301]-EXT-116 4



(WS wUiaw)
9@ : dF A TeRUT TUT : 100
o — (1) §d WA Gefau AeRasd S
(7)) SSE®ele ek qU U ifer.
(777) TRUEIE TS TUSH YEAUCART TEEl

1.  TIeliddes! HIvAE Ter Y99 dedl [20]
(a) onfde foskErdia =i YqfHes T2 &
(b UEE UHEHU SO gH ASHY HoIHIT

2, Weltciie! HIAE Uk 999 dedl [20]
(a) TG H WS &®E ? FAA BAE A9 9 AW TR FHA.
(b Ft foaEca™ Wed WM 9 FH1 fau{Ecd™ WA R &

3. Wcliclysh! IR Teh W9 Hiedl : [20]
(a) VORI AHIA HRU FA STHEA TSAHS IqF T H.
(b) AT HEd A d SArded™ Y@ YRR TR H

4, WlAUH! HIUAE Tk Y Grear [20]
(a) YRAE S U0 ZEE=t 9@ [ dekd U TR 6
(b) W MR o=l 3Mqese T 9 YRAE  IAI&sekia S

FMR FEeAd JHE T 6.

5. W fom (FoeE 9F) [20]
(a) W& =
(b)  ITTgIam
(¢0 ToHAM a7 HEE
(d &g fadqeee

[6301]-EXT-116 5



Total No. of Questions—5+5] [Total No. of Printed Pages—5

o [5301]-EXT-117
F.Y. B.A. (External) EXAMINATION, 2018
POLITICAL SCIENCE
G-1 : INDIAN GOVERNMENT AND POLITICS
(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

NB. — (1) All questions are compulsory.
(zi)  Figures to the right indicate full marks.
1. Attempt any one question of the following : [20]
(1) Explain the nature and importance of the preamble of the
constitution of India.
(2) Explain the powers, functions and role of Chief Minister and
his Council of Ministers.
2. Attempt any one question of the following : [20]
(1) Explain the Directive Principles of State Policy mentioned in
the constitution of India.
(2) Discuss the rise of regional political parties and their role
in Indian politics.
3. Attempt any one question of the following : [20]

(1)
(2)

Describe the composition, powers and functions of Lok Sabha.

Explain the importance of caste and religion in Indian politics.

P.T.O.



4. Attempt any one question of the following : [20]
(1) Describe the process of election, powers, functions and role
of the President of India.

(2) Discuss the hurdles in the process of development in India.

5. Attempt short notes on any two of the following : [20]
(1) Fundamental duties
(2)  Social Justice
(3) Causes of the rise of OBC politics

(4) Position and role of the Governor

(W& wUIW)
9% : 9 a™ THUT TOT : 100
oA — (/) Wd WA GEfau sTeRdsd SR
(77) 3STEihEl® Fh YTAE qU U SFforr.
(7i7) WU T TUSH WYAUCART UgTEl.

1. Weiicis! HIVARI Tk 999 dedl [20]
(1) 9RdE TEe = O @WEY 9 Hed 9.
(2) weHs sfol wHees A AR o qfHehl wWEE

2, Wiays! ®vEE Tk Y99 Gedl [20]
(1) e TooEedial ArfeRies del T &
(2) URfTE UaEn 3§F SN WRATE USRRUNGIA Q= YfHeRT |

3. Tclicidesh! UM Teh WIA Hiedl [20]
(1) hEd=t A, AR, HE |
(2) YRAE USROS Sa AM0 oH a1 Feh= Hed 9.
[6301]-EXT-117 2




4.,  ECfiade! HIUEE Tk 939 died [20]
(1) Tsgud=t faeus, Afysr, wEd oufr yfisr T &
(2) WRAda fow™ gfwadial sTededr=l == .

5. Wclicidshl ®oceE gHer ededa feor foer [20]
(1)  ¥AYd HaA
(2) GHIS, =M
(3) o ot . TIRRUTAT 3N BRI
(4) THUE TE A Y

[6301]-EXT-117 3 P.T.O.



[6301]-EXT-117
G-1 : MODERN INDIAN POLITICAL THOUGHT
: Three Hours Maximum Marks : 100
. :— (1)  All questions are compulsory.

(if) Figures to the right indicate full marks.

Attempt any one question : [20]
(1) Examine Mahatma Gandhi’s critical views on western civilization.

(2) Explain Dr. Baba Saheb Ambedkar’s views on Democracy.

Attempt any one question : [20]
(1) Explain Mahatma Phule’s views on Radical Liberalism.

(2) Explain M.N. Roy’s views on Marxism.

Attempt any one question : [20]
(1) Explain Justice M.G. Ranade’s views on State and Economy.
(2) Explain V.D. Savarkar’s views on Eradication of Caste

Discrimination.

Attempt any one question : [20]
(1) Explain Lokmanya Tilaks views on ‘Doctrine of Loksangraha’.

(2) Explain Abul Kalam Azad’s views on Communal Harmony.

Attempt any fwo questions : [20]
(1) Justice M.G. Ranade’s views on British Rule in India.

(2) V.D. Savarkar’s views on ‘Hindutva’.

(3) Techniques of Satyagraha.

(4)  Abul Kalam Azad’s Pan-Islamism.

[6301]-EXT-117 4



(TS ')
9% : 9 a™ THUT TOT : 100
oAl — (1) §d W diefau TeRdd R
(77) STERSl® 3k YA YU 0 SFifed.
(777) WSHEE! He3 SUSH WYAALART UMl

1. WeicUs! HIVAR! Tk U9 dedl [20]
(1) ¥ TS UvEd ARl feshreaes aftequr &L
(2) Tl JOHRd AEeH A AlhIMEIaudgs faur T &,

2. Weftcis! IR U 999 dedl [20]
(1) We Ford HeHl SeRAdaRias foar o &
(2) TH. TA. ¥ 99 AAR foEr ww &

3. Wil IR Teh W9 Hiedl : [20]
(1) TH ST T 9 T 9 Adfgoges foam o= .
2) fa. T weReE ‘S fosma feaae’ foer s &

4, Eade! HIOAREN Tk Y9 e [20]

(1) Ra fesw dnausfauds dd’ T &,

(2) g HAM AR d< HEEIw TR favew foer W @

5. diera feur fa@ (Foe@ gF) [20]
(1) TUHS. T[ed Y9Rada fafesr 3w fasme fo=r
2) fazn " I ‘fega’ fawas foem
(8) HAWREET HieH
(4) AIA HAH AN : U7 TAHAKG

[6301]-EXT-117 5



Total No. of Questions—5] [Total No. of Printed Pages—3

o [5301]-EXT-118
F.Y. B.A. (External) EXAMINATION, 2018
HISTORY
G-1 : CHHATRAPATI SHIVAJI AND HIS TIMES
(1630 — 1707)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
1. Attempt any one of the following questions : [20]
(a) Write the information about ‘Sanskrit’ sources for the study
of Chh. Shivaji and His Times.
(b) Explain the concept of ‘Saranjam’ and ‘Sardeshmukhi’.
2. Attempt any one of the following questions : [20]
(a) Explain the relations between Chh. Shivaji and Adilshahi.
(b)  Discuss about the military administration of Chh. Shivaji Maharaj.
3. Attempt any one of the following questions : [20]
(a) Explain Chh. Shivaji Maharaj’s foreign policy with reference
to Portuguese and Dutch Powers.
(b) Evaluate the achievements of Chh. Sambhaji Maharaj.

P.T.O.



4. Attempt any one of the following questions : [20]
(a) Evaluate the achievements of Maharani Tarabai in the Maratha
war of Independence.
(b) Review the social life in the period of Chh. Shivaji.

5. Write short notes on (any ¢wo) : [20]
(a) Travellers Account
(b) Karnataka Expedition
(¢) Agriculture and revenue system
(d) Architecture of forts

(TS ')
% : A A THTT T : 100
o — () 98 WA AfeEd eea.
(77) 3SSEiwele Fh YUl U SFiforra.
(i) TRHES! Hes TUSHT YTAART Ugral.

1.  Tcldus! HITAR Tl J9e S foer [20]
(a) ® Toonh onfr fadeEn srammEen ‘whd’ aiedia et
mfedr  fera.

(p) ‘ESm oS WeInEgEl’ A Hehed TR &

2, Eeicds! HIAR Tl JeE SWfoer [20]
(a) ®© TEst TR 9 offcenme a=ada Jay fowg .

(b B TIEst AR asRd URTEARET 9= S

3. Weliiciie] HIVER Tl T S foel [20]
() UGMS 9 9 A T GeUld ©. Ranl dermeie Twse €Ro o
.

(b) B UGS HERETA ANRE  JeIHTd
[6301]-EXT-118 2



4, TElAYh! SR TRl 9 SR fomer . [20]

(a) TSI @AA TUW HeRIUI qRErE dieal hMARS Jeddad .

(b) TR FHISSIaa™ JH A=A H.

5. 9ewE four fag (w0 @) [20]
(a) W& YaRITE A
(b) HAlCH HEM

() Sl oA Hegd UGl
(d foca= TS

[6301]-EXT-118 3



Total No. of Questions—5] [Total No. of Printed Pages—2

Seat

No. [5301]-EXT-119

F.Y. B.A. (External) EXAMINATION, 2018
ANTHROPOLOGY
G-1 : INTRODUCTION TO SOCIAL AND CULTURAL ANTHROPOLOGY
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
NB. — (1) All questions are compulsory.
(if) Figures to the right indicate full marks.

1. What is Anthropology ? State the relationship of Anthropology with
other sciences. [20]
Or

What is Religion ? Describe the various theories of origin of Religion.

2. Describe the various ways of acquiring modes in Tribal society.
[20]
Or

Describe the stages of tribal economy.

3. Explain the nature of Law and Justice among Adivasis. [20]
Or

Discuss the various elements of culture.

4. Describe the types and functions of magic. [20]
Or

What is joint family ? What are the characteristics of joint family ?

P.T.O.



5. Write short notes (any ¢wo) : [20]
(1) Anthropology and History
(2) Uses of Anthropology
(3) Couvade
(4) Village Headman

(W& ®UIT)
9% : 9 a™ TeRuT ToT : 100
I — () |8 WA diefan s k.
(7)) ISEIhSle 6 YO U SFifedr.
(777) HIWHEIS! HB SUSH YYTUGIR UgrEl.

1. HHORTES WUS k¥ ? HEGRTEE 3a¥ NS STHAe Had R [20]
fehar
i WU w2 ¥H IAciaege fafay fagam auH .

2, ofcardl wamTdiel |y guearen fafay uewdt fowe ww. [20]
fehar
sfcerdt Sefeaees <0 foave .

3. anfeardt ALt HEET 9 AT WRY HA. [20]
fehar
Gehdren fafay sesw=n ==i %

4, SIGH YHR M0 w1 FqUE H [20]
e
Yo hed WUN M 7 G FHeardt AT w2

5. drewm@ U o (FueEmE  F) e [20]
(1) TFaeTE enfr sfae™
(2) HFRTEE TN
(3)  HEYHferdl
4) TS
[6301]-EXT-119 2



Total No. of Questions—8] [Total No. of Printed Pages—3

Seat
No.

[56301]-EXT-120

F.Y. B.A. (External) EXAMINATION, 2018

GEOGRAPHY

Gg-110 : ELEMENTS OF GEOMORPHOLOGY

Time : Three
NB — ()
(1)
(111)
(1v)
(v)

1. Answer in

(2013 PATTERN)
Hours Maximum Marks : 100
Question No. 1 is compulsory.
Solve any five questions from Q. No. 2 to Q. No. 8.
Draw neat diagrams wherever necessary.
Use of map stencil is allowed.

Figures to the right indicate full marks.

20 words each (any ten) : [20]

(1)  Define geomorphology.

(i)  What
(fi11) Write
(iv) What
(v  What
(vi) Write

is standard time ?

any one use of latitudes and longitudes.
is Panthalasa ?

is metamorphism ?

any two types of folds.

(vii) Define mechanical weathering.

(viii) What

(ix) What
(x) Write
(x1) What
(x11) What

(x7i7) What

is carbonation ?

is hydrologic cycle ?

any two types of mass wasting.
is pot hole ?

is delta ?

is free face of a slope ?
P.T.O.



2. Define physical geography. Explain the branches of physical geography.
[16]

3. Describe the structure of interior of the earth with diagram. [16]

4. What is rock ? Describe the types of igneous rock with diagram.

[16]
5. Describe the causes and effects of earthquake. [16]
6. Describe the landforms associated with erosional work of sea waves.
Draw suitable diagrams. [16]
7. Define slope. Explain the types of slopes with diagram. [16]
8. Explain the applications of geomorphology in human activities. [16]
(TS wAa)
Y& . @ A TR T ;100
AT — () T HEGR 1 HiEfau Eds SR
(i) Y HAH 2 d 8 U HUME 5 YA Hiedl
(fff) 3ETIH A9 gk AR .
(7v) RN VG IaR0IE a3 .
(v) ISelheld & qui 7o geifed.
(vi) GGl Yoo TUSH YeAUlAhl TRIE.
1. TA& 20 VK@ SW AR (HIUCRT q@T) [20]

() ERTSTE e e
(77) YHIUE® WU 2
[6301]-EXT-120 2



(i) HAHFIA 9 I@EGAET RIUAEN Th IqAM fora.
(fv) Y WU & 7

(v) TU@IT TS wE ?

(vi) 9o HIUAel S YR o

(vi)) iftaeh foeRumr=i =aren foml.

(vii)) HEHAIE BN & ?

(ix) S9sh WUS KA ?

(x) Premugeaien e Fvde 9 YhR - fon
(x)) TSIUREe WU & ?

(xif) TIYS 991 =S &wE ?

(x77) A Yo Y3 WS w7

hfdeh el =aredl fagl. Urhfde  qiiier=a omen s . [16]
JeaT=l a0 THd hdids avid . [16]
Teh WIS &M@ ? Al TeHh™ YHR AFHdEs 9uH . [16]
IRl RO F qROM 9uiE & [16]

I AR s v S e g0 Rd. gae STl

e [16]
AR A fofgl. SaE YR Adhdidg T 6. [16]
ael fopamdia qEwRTEN ITEsE O & [16]
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Total No. of Questions—5] [Total No. of Printed Pages—2

Seat

No. [5301]-EXT-122

F.Y. B.A. (External) EXAMINATION, 2018
PUBLIC ADMINISTRATION
G-1 : PRINCIPLES OF PUBLIC ADMINISTRATION
(2013 PATTERN)

Time : Three Hours Maximum Marks : 100
NB. — (1) All questions are compulsory.
(z1)  Figures to the right indicate full marks.

1. Attempt any one of the following questions : [20]
(1) Explain the meaning, nature and scope of Public Administration.
(2) Explain the structure and role of Administrative Tribunals.

2. Attempt any one of the following questions : [20]
(1) Explain the types of control over Public Administration.
(2) State the Traditional Approaches to the study of Public
Administration.

3. Attempt any one of the following questions : [20]
(1) Explain the Bases of Departmental Organization.
(2) State the budgetary process in India.

4. Attempt any one of the following questions : [20]
(1) Explain the methods of Recruitment in India.
(2) Explain the principles of Hierarchy.

5. Write short notes (any ¢wo) : [20]
(1) Leadership
(2)  Training
(3) Concept of Accountability

(4) Staff-unit
P.T.O.



(WS ®UIal)

q% : dF A TeRUT 0T

ol — (/) ¥ WA SAeRdsh  3ed.
(77) 3SSEiwele Fh qu U SFiforr.

1.  Weitclush! HIER TRl J9= S o
(1) hwRmEEET 1Y, WEY SNfr St Tee A
(2) YR AEAMUROME &y 0 e T .

2, eyl SR Uel e SR ferer
(1) <RURTEEa Haome geR T &
(2) CRYRTEATAT AT URUIE  gfeshion Er.

3, TClclush! V@R Tal Y9 W faer

(1) E¥eT ©rcard STERYd S T Al

(2) YRAdA  SSSYSIh=T Yfshdm 9.

4, TIIAYH! DR TRl YeE SR fa@l

(1) YRAdia 9drean 9gdl W5 .

(2) YTWHRE dd W HA.

5.  dredm few faw (Fvem@ €M)
(1) g
(2) uf¥gm
(3) SRS HeheuH
(4) % HYdeh

[6301]-EXT-122 2
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5301]-EXT-123

F.Y. B.A. EXAMINATION, 2018
(For External)
PSYCHOLOGY

(G-1 : General Psychology
(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.
(i17) Draw neat diagrams wherever necessary.

1. (a) Write in detail the various fields of Psychology. [20]
Or
(b) What is Emotion ? Explain in detail the basic types emotions.

2. (a) Explain the Gastalt principle, perceptual constancies. [20]
Or
(b) What is motivation ? Describe the biological motivation.

3. (a) Explain the functions of brain and spinal cord. State the clinical
study of brain. [20]
Or

(b) State the definition, types of memory and discuss the causes
of forgetting.

4. (a) Explain the Freud's psychoanalytical theory of personality. [20]
Or
(b) State the definition of thinking processes. Explain the types

of thinking.
P.T.O.



5. Write short notes in 200 to 250 word each (any two) : [20]
(1) Career Avenues in Psychology
(2) Memory Improvement techniques

(3) Neurotransmitters. (any two)

(4) SWOT Analysis.

(W& T UIT)
9% : A9 a™ TehuT TuT : 100
gl — (1) |d Y9 Gefdau ofeavds o
(77) SSEIHSIE 3k YAE YO IO SIiferan.
(iif) 3TEYIR A1 TSkt Yook TMHA el

(7v) USHHE Tes TUSH UYAUAR] TRE.

1. (31) AFEIETAT IEl TS [20]
ferar
(F) e TS i ? 9Ead YR Gfaww foEn

2. (31) TATAEN TElee I WA Hogd WA 9 giaefie yA fave
Ep [20]
f@ar
() W =S wE ? TR Won fawm fove @

3. () Wg 9 HooRosEl &M HiowR WM 9 Hgen fafecmmsia 1w
gl fowg . [20]
feRar
(9) TROT=N A, YeR ArE fomoret &Rer wfawr o

[6301]-EXT-123 2




4, (31 izt AfFHEET HAfITATUNHs 3udxl dfasr fave 4. [20]
ferar

(9) Toarufswa=i =amen 9E fa=u= gwR @

5. Woliciueh! UGl QraieR Josht 200 O 250 ¥eg @ fewr fewr @ [20]
(1) TFEETEdA St
(2) Tt gER oA
(3) oA (HIUdEl |F)
(4) w@ic fageyo.

[6301]-EXT-123 3



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat
No.

[5301]-EXT-126

F.Y. B.A. EXAMINATION, 2018
(For External)
HISTORY GENERAL-I
(History of Civilization)

[Cultural History of Maharashtra (Upto 13th Century)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100
N.B. .— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.
1. Attempt any one of the following questions : [20]
(a) Write detail note on the origin of Marathi Language.
(b) Discuss in detail on the economic life of a Yadav period.
2. Attempt any one of the following questions : [20]
(a) Describe the position of women in society of Satavahan
period.
(b) State the features of caves arts in ancient period with
examples.
3. Attempt any one of the following questions : [20]
(a) Discuss about the political life of Rashtrakut.
(b) State the features and origin of Bhakti Movement.

P.T.O.



4. Attempt any one of the following questions : [20]
(a)  Who was Chhatrap ? Give an account of the position of Chhatrap

in Indian political history.
(b) Explain the importance of sculpture, caves temples and forts

as historical source.

5. Write short notes on (any two) : [20]
(a) Inamgaon
(b)  Cultural identity of Maharashtra
(¢) Megalithic burials
(d) Mahanubhav.

(TS wUiaR)
9% : 9 q™ THUT TOT : 100
g — (/) WA YA Gefau oAevas eed.
(i7) SATHElG 3Tk YA IO SRifgam.

1. Qi AR Thl e SR foer [20]
(1) TUS o= I9A Hewia gfawR wifedt  ferer
(F) AGaehley oMfder Sfoqer dfa® == 4.

2. TOEUS! HIVAR Tl T W fa@r [20]

(31) HdaeThA foaa gHeTda E I 9uid .

(d) YN FEdid Al TATThd=]  ICRUMEE  Jf¥se 9.
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3. Wddu®ml HUAE Tawl YIE W fomr [20]

(31) USIHAT TSIhI SR Hd ==l .

(9) 9ot Feodad=n 3gA offor afymewr @i

4. GIATR! HIUER TRl I W fa@r [20]
(31) &9 HU Bd ? F T URAT Ui sfagmndia e o o
ATfedt =m.
(@) zfoemm @M wE faacm, o, Gf onfr fees I meE T
.
5. diewm feum faw (Fv@@ g€F) [20]
(1)

(9) TR Apide  3ied
(%) TIUETT THA
() TeHYE.
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5301]-EXT-127

F.Y. B.A. EXAMINATION, 2018
(For External)
HOME ECONOMICS
(G-1 : Household and General Economics)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
NB. — (1) All questions are compulsory.
(zi) Diagrams must be drawn wherever necessary.

(7i7) Figures to the right indicate full marks.

1. Answer any one of the following questions in 500 words (any one) : [20]
(1) Explain the relationship between Economics any other Social
Sciences.

(2)  State the different methods of measuring price elasticity of demand.

2. Answer the following questions in 500 words each (any one) : [20]
(1) Explain the law of supply with suitable examples.

(2) Discuss the functions of Commercial Banks.

3. Answer the following questions in 500 words each (any one) : [20]
(1) Explain the different items of expenditures in family budget.
(2) Explain the nature and importance of decision-making.

P.T.O.



4. Answer the following questions in 500 words each (any one) :
[20]
(1) Explain the elements of interior and exterior house decoration.

(2) Explain the importance of human values and goals in human life.

5. Write short notes on (any ¢wo) : [20]
(1) Home Management
(2) Basic Economic problems
(3) Importance of Home Management
(4) House Planning.
(TS wUIaR)
q% : || A TeRUT TOT : 100
o — (i) TWd WA GEfa sTeRTd SR
(i) STEYIH d9 Yok ITHAl il
(111) WWW@WW
(7v) TRUEE Wb TUST YYAUlAHl TRIE.

1. Geid el S® 500 Ve[ foel (RIER TER) [20]
(1) 37T T TSR ISR STHUIR HeY TS .
(2) wri=r feraa dafaeear dstvaTen fafay agdr @

2. el YNl A 500 Ve[ foRl (AR TER) [20]
(1) Yacur=n a8 dieeu o &
(2) AN dRET hEd TS R

3. Wi YeAEl 3@ 500 V=M @l (FUAE W) [20]
(1) Fear=a ST/EUARMA T 9= ar T2 .

2) T ufeie W®Y 9 Hed W h.
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4, EEid JEET W 500 v=E[ TRl (FOAE TR) [20]
(1) &i@ia sfr dfgria [eoSee ¥ T .
(2) WHE geF o e A= "EEl Saddid Hed T &

5. drea fow faw (FomE €@9) [20]
(1) 7T HILH
(2) HAYd YR g
(3) B HATEAYAH He

(4) & e

[6301]-EXT-127 3 P.T.O.



Total No. of Questions—5+5+5] [Total No. of Printed Pages—6

Seat
No.

[5301]-EXT-128

F.Y. B.A. EXAMINATION, 2018
(For External)
DEFENCE AND STRATEGIC STUDIES
D.S.G.-1 (A) : Defence Mechanism of India
(2013 PATTERN)
: Three Hours Maximum Marks : 100
. :— (1)  All questions are compulsory.
(zi)  Figures to the right indicate full marks.

State the composition and functions of the Defence Committee of
the Cabinet. [20]
Or

What are the characteristics, role and limitations of Armored Corps.

Trace the growth of Indian Navy since 1947. [20]
Or
State the characteristics, role and limitations of Air Force.

Explain the principles of Military Organisation. [20]
Or
Describe the characteristics, role and limitations of the Artillery.

Explain the Andaman and Nicobar Command. [20]
Or

State the characteristics, role and limitations of the Indian Navy.

Write short notes on (Any fwo) : [20]

(1)  Army Ordnance Corps (AOC)

(2) RAW

(3) Chief of Staff Committee

(4) Role of Border Security Force.
P.T.O.



(TS wUia)
9% : 9 q™ TRUT TUT @ 100
e — (1) Td WA e sTeRTd SR
(77) 3STEihel® h YAE YU YU SFforr.
1. hel AHSAreN TREV Aibdt T 9 ®1d 9. [20]
feha
facredt Taml afyrse, i 9 TIer wive ?

2. 1947 UNA ARAE AQeren faeEn Sfedn = [20]
fefar
YT TR <ot afere, w@ 9 mafer w2

3. ARy oAl dd T . [20]
fehar
TR el df¥se, &M o Hgiel favg 4.

4, M o ReR HATE T & [20]
fehrar
TRAE gt Jfyrse, w9 H/Algr |

5. dewd fow fagr (o 9F) [20]
(1) T <l faamr (w.eiEl)
2

(3) =% % W Hhiger (Tareaey |iHdr)
(4) HH HrEm SarEl hH.
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Time :
N.B.

[5301]-EXT-128

D.S.G-1 (B) : Military Thinkers in 19th Century

:— (1) All questions are compulsory.

(if) Figures to the right indicate full marks.

Explain theory of sea power by Ad. A. T. Mahan.
Or
State strategic thought by Che Guevara.

Describe Geopolitical theories by Karl Houshopher.
Or
Explain in brief Mackinder’s Heartland theory.

Describe views by Mao Zedong about Cultural Revolution.

Or
Explain in detail theory of Air Power by Douhet.

State thought of Marshal Foch regarding war.
Or
Explain strategic thought of B.H. Liddle Hart.

Answer in brief (any two) :
(1) Mackinder

(2) Karl Houshopher

(3) Moltke

(4) Che Guevara.

[5301]-EXT-128 3

Three Hours Maximum Marks :

100

[20]

[20]

[20]

[20]

P.T.O.



(WS ®aial)

q% : dF A TeRUT 0T

oAl — () §d WA diefau oTeRdsd SR
(7)) ISEIHSte h Y¥AE O O Sl
(7i7) WU T TUSH WYAUCART UgTEl.

1. ofefia ©w & #weW 9mn 9 Tcen faga T &
fehrar
o Teeq I 9Mieh fa=mr 9r.

2. e IR A e faga fove w.
fefan
Hferret A wHYH fagd dier[ T H.

3. WISl S e Gikpdie widl fawEen foewe ool &
fehar

gee F@ gAE YRRl fHgid wfewR T &

4, URIG WA A9 gSfawie faer @
fehar
fiug. fasa e o= wmies faer wse &

5. drewd few fagr (siv@E @F)

(1) =

(2) WA IR
(3) Hicesh

(4) = 7=

[56301]-EXT-128 4

100

[20]

[20]

[20]

[20]

[20]



D.S.G-1 (C) :

: Three Hours Maximum Marks :

[5301]-EXT-128

. :— (1)  All questions are compulsory.

(z1)  Figures to the right indicate full marks.

Post Cold War India’s Security Environment

100

What security challenges have created due to Globalization on post-

cold war period ?
Or

Explain the India’s external security challenges.

Explain in detail the concept of Human Security.
Or

Describe India’s counter-terrorism policy.

Describe the India’s efforts to become Superpower.
Or
Explain the structure and functions of NAFTA.

What are the characteristics of Globalization ? Explain.

Or

Describe the impact of terrorism.

Write short notes on (any two) :

(1) Human Rights

(2) Water Pollution

(3) New World Order

(4) National Counter-Terrorism Center (N.C.T.C.)

[5301]-EXT-128 5

[20]

[20]

[20]

[20]

[20]
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(TS wUTaR)
d% : O A TehRUT TUT : 100
o — (i) €W WA SAeRIE  STRd.
(i7) SYEREl® & YIAE U U o

1. YAgSaR HIAESM STt GX&qe Hiudl e i smef ?

[20]
fehrar
I QS afgtid M W .
2, ‘AWl e @ Hhedd AiORR TR & [20]
ferar
URAE  Yiaegyidaeiana=  &Ru fave .
3, el SFUITEES! 9AaM Sholedl YIaoT<l o0+ . [20]
fehar
THAr= A1 ST R T A
4,  SMfdehiRIom=t Afysd HIUET ? TS . [20]
fehar
TEIIaR™ Yo favig .
5. e feur fasr (FoeEE @9) [20]
(1) HMHel BFh
(2) @ TgEW

(8) A SNIfdeh g
(4) T <evdare falet oy (TE.ELAEL)
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5301]-EXT-129

F.Y. B.A. EXAMINATION, 2018
(For External)
SOCIAL WORK
(I) SOCIAL REFORMS MOVEMENTS IN INDIA
(II) INTRODUCTION TO SOCIAL WELFARE AND SOCIAL SERVICES
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
N.B. :— (i) All questions are compulsory.
(zi) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [20]
(1) Discuss the objectives and activities of Prarthana Samaj.
(2)  Discuss in detail the history of social services in India through

Pre-British period.

2. Answer any one question in 500 words : [20]
(1) Discuss work of Mahatma Gandhi for Backward classes.
(2) State the reform movements for ensuring the rights of workers

in post-independence period.

3. Answer any one question in 500 words : [20]
(1) Discuss in detail the Gramdan Movement.
(2) State the specific social services for the disadvantaged sections

of the society.
P.T.O.



4. Answer any one question in 500 words : [20]
(1) Define the term social welfare and explain the welfare services

for women.
(2) Discuss the planned provisions of social services for youth in

India.

5. Write short notes on any two : [20]
(1) Objectives of Ramkrishna Mission
(2) Concept of social reconstruction
(3) Sarvodaya Movement

(4) Reform work by Mahatma Phule for farmers.

(W& T UIH)
9% : 9 a™ THUT TOT : 100
oA — (/) Td WA e sTeRdd SR
(77) 3SSEiwele h qu U SFiforra.
(711) WWWWWW .

1. DIUAR Teh TR SW 500 V| forer [20]
(1) W TS IGQ 9 IURHE! T
(2) YR GrHTSes o= foadierge sheerdial gfderamt dfos® == .

2, SR Wk YR W 500 I ol [20]
(1) WeeH M ArHaTEel sholel il 9= L
(2) HIARAT Fhd TEIU FOAME WIAATR hleoldiel GHRON Fesdad!
feter.
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3. WV Wk Y¥AE SW 500 Ve forer [20]
(1) UMM Fedcd=l WOR ==l &
(2) Qoitgd wewiEe Hura fave wmitae Fen formn

4, HUERI Teh YIAE IW 500 V&M TRl [20]
(1) GO weawmH e fagd dfeadd! STl hedluhRl da1 s
.

o Ne

(2) YRAMIE JakEe Ul HEifsa arifse Sare Wgardl == .
5, dieqa fem foamr (FowE €9) [20]

(1) TEps e SR

(2) GEIfSieh  gASfEoiE  HehouH

(3) Hdlcd T3S

(4) TR Bl Il VAh-ArdSt ohold YUNICHS .
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Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. [5301]-EXT-130

F.Y. B.A. EXAMINATION, 2018
(For External)
MATHEMATICAL STATISTICS
(Discrete Probability and Probability Distributions)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
N.B. .— (i) All questions are compulsory
() Figures to the right indicate full marks.
(i) Use of statistical tables and calculator is allowed.
(1v) Symbols have their usual meaning.

(v)  Graph paper will be supplied on request.

1. Attempt each of the following :

(a) State whether each of the following statement is true or

false [1 each]

() Mean and variance of Poisson distribution are equal.

(i) The first raw moment of a random variable is always

Zero.

P.T.O.



(7711) Variance of a constant is zero.

(iv) Marginal probability distribution of X is a univariate

probability distribution.

(v If X and Y are independent Poisson r.v.s then X — Y

is also a Poisson random variable.
(b)  Choose correct alternative in the following : [1 each]

(D) The first central moment of Poisson distribution with mean

m is :
(A) m
(B) 3m
C) n?
D) 0

(1) Suppose X and Y are two independent discrete uniform

random variables with parameter n. The distribution of

X + Y is :

(A) Discrete uniform with parameter 2n
(B) Binomial distribution

(C) Discrete uniform with parameter n?

(D) Bernoulli distribution

[6301]EXT-130 2



(iif) If X and Y are any two random variables with covariance

(1v)

(v)

[6301]EXT-130

between them is equal to 50, then covariance between
U and V, where U = 10X + 10 and V = 5Y + 5,

1S

(A) 2500
(B) 50
(C) 65
(D) 500

If A and B are independent events with P(A) = 0.4 and
P(B) = 0.25, then P(AUB) is :

(A) 0.65

(B) 0.55

(C) 0.1

(D) not enough information is given to answer this question

In the simultaneous tossing of two fair coins, the probability

of having at least one head is :

(A) 0.5
(B) 025
(C) 0.75
D) 1

3 P.T.O.



(¢0 Answer in brief :

[2 each]

(1)  Define Poisson distribution. State any zwo real life situations

in which it can be applied.

(z1) State the p.m.f. of negative binomial distribution. State

its mean and variance.

(1i7) Explain the properties of M.G.F.

(iv) Explain axiomatic definition of probability.

(v)  Define joint distribution function of two-dimensional random

variable.

2. Attempt any four of the following :

[4x5=20]

(a) The probability of an accident in a factory is 0.2 in Delhi,
0.3 in Pune and 0.1 in Mumbai. Find the probability that an

accident may happen in :
(1) at least one of the three cities

(77) all the three cities.

(b) Let (X, Y) be a discrete bivariate r.v. with the following joint

p.m.f. :

X Y
0 1 2 3

0 k 3k | 2k | 4k
1 2k | 6k | 4k | 8k
2 3k| 9% | 6k | 12k

(/) Find &

(77) varXlY = 2).

[6301]EXT-130 4



(¢) State classical definition of probability with its limitations.
(d) State and prove the additive property of Poisson distribution.
(e) Obtain mean and variance of geometric (p) distribution.
(/4  Define C.G.F. Derive C.G.F. of binomial distribution with
parameters n and p.
3. Attempt any four of the following : [4x5=20]
(a) A manufacturing concern employing a large number of workers,
finds that over a period of time the average absentee rate
is 2 workers per shift. Using Poisson distribution calculate the
probability that on a given shift :
(1) exactly 2 workers will be absent
(7)) more than 4 workers will be absent.
(b)  Define discrete uniform distribution. Find its mean and vatiance.
(¢) A random variable X has the following probability distribution :

X P(X)
1 3k
2 3k
3 5k
4 17k
5 9%
6 11k
7 13k

[6301]EXT-130 5 P.T.O.



(/) Find L
(77) Calculate E (3X — 4) and var (3X + 5H).

(d) Explain the concept of marginal and conditional probability

distributions.

(e) Define hypergeometric distribution. State applications of
hypergeometric distribution along with conditions for the

application of the distribution.

(/)  Compute variance of X for the following probability distribution :

P(x) = ﬁ, x=0,1,2,3,4.
30

4, Attempt any {wo of the following : [2x10=20]
(a) (1) Obtain C.G.F. of Poisson (m) distribution.

(if) Three girls and four boys take part in an antakshari
competition. Those of same sex have equal probabilities
of winning, but each girl is twice as likely to win as
any boy. Find the probability that a boy wins in the

competition.
(b) Let the joint p.m.f. of (X;, X9) be,
P(X,,X,)=k2x +5x,); k>0, x=1,2, x,=1,2.
(/)  Determine &k

(i)  corr(Xy, Xo)

[6301]EXT-130 6



) The mean and variance of marks in Statistics are 60

and 25 respectively. Find the mean and variance of :

_X-60 ., X-50
5 ME Ty

Y

(ii) State and prove multiplication theorem for two events

A and B defined on a sample space Q.
(d) Suppose X and Y are discrete random variables. Prove that :
() var(aX — bY) = &% var(X) + P2 var(Y) — 2abcov(X, Y)

(i) var(aX + bY) = a2 var(X) + P var(Y) + 2abcov(X, Y)

5. Attempt any one of the following : [1x20=20]
(a) (i) State and prove Bayes’ theorem. [8]

(i) Let X— Un, p and Y - Un,, p and X and Y are
independent. Obtain the conditional probability distribution
of X given X + Y. Identify the distribution. [7]

(177) Obtain M.G.F. of discrete uniform distribution over

{1, 2,..., n}. [5]
(b) (1)  Explain the following terms :

(I)  Conditional probability of an event.

(II) Pairwise independence for three events.

(ITI) Mutual independence for three events.

(IV) Probability model. [8]

[6301]EXT-130 7 P.T.O.



(11)

(111)

[6301]EXT-130

Suppose X follows binomial distribution with parameters

n and p. Find the probability distribution of : [6]
Y = n - X).

Explain the coefficient of skewness and coefficient of kurtosis

based on moments. [6]



Total No. of Questions—6] [Total No. of Printed Pages—4

Seat [5301]-EXT-131
No.
F.Y. B.A. EXAMINATION, 2018
(For External)
OPTIONAL ENGLISH
Paper 1
Interface (English Literature and Language)
(General English)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
N.B. :— (1)) All questions are compulsory
(11) Figures to the right indicate full marks.
1. Answer the following questions in about 80 words each
(any three) : [15]
(1) What lesson do we learn from the incidence narrated by Abdul
Kalam ?
(2) Explain how America has freed English language from the tyranny
of rules of the British English.
(3) Describe the extremely busy office in “The Romance of a Busy
Broker.”
(4) What is the story “A Day’s Wait” about ?
(5) Why was Schatz restless the whole day in ‘A Day’s

Wait’ ?
P.T.O.



2. (@ Answer the following questions in about 80 words each

(any three) : [15]

(1) Describe the sudden change in the mood of the speaker
in Sonnet 29.

(2) What is the central idea of the poem "The World is
Too Much With Us"?

(3) Explain the significance of the title "No Men are Foreign".

(4) Explain the mood in the poem "The Listeners".

(5) What message does the poem "No Men are Foreign" convey?

(b) Write short notes on the following (any two) : [10]

(1) Cultural transmission of language

(2) Arbitrariness as a characteristic of language

(3) Directive function of language

(4) Informative function of language

3. Answer the following questions in about 120 words each
(any two) : [16]
(1) How does the film crazy youth take revenge of Sundarbala ?
(2) Comment on the complexities of human relationships with reference
to the story “Marriage is a Private Affair”.
(3) How does the youth get a chance to work with his favourite
film actor in the story ‘Upper Division Love’ ?
(4) How does the letter from Nene bring change in the situation

in “Marriage is a Private Affair” ?

[6301]EXT-131 2



4. Answer the following questions in about 120 words each
(any two) [16]
(1) Explain the dilemma of the traveller in choosing the road in
the poem “The Road Not Taken”.
(2) Explain the theme of the poem “The Sun Rising”.
(3) Comment on the allegorical significance of the poem “The Mountain
and the Squirrel”.
(4) Comment on the racial discrimination mirrored in the poem
“The Ballad of the Landlord”.
5. Answer the following questions in about 120 words each
(any two) : [16]
(1) Bring out the tragic element in the one-act play, ‘Lithuania’
by Rupert Brooke.
(2) Comment on the end of the play ‘Lithuania’.
(3) What are major themes of the play ‘The Swan Song’ by Anton
Chekhov ?
(4) Explain the symbolic significance of the title of the play, ‘The
Swan Song’.
6. (a) Write a note in about 50 words each (any one) : [4]
(1) Difference between phonetics and phonology
(2) Morphology as a branch of linguistics
(b) (1) Identify the number of phonemes in the following words

(any two) : [2]
(1) flag

(2)  string

(3) sea

(4)  knight

[6301]EXT-131 3 P.T.O.



(1) Identify the structure of the following words in terms of C

and V (any three) :

(D)
(2)
3)
4)
(5)

tan
numb
gate
in

ship

[3]

(zz1) Identify the vowels in the following words (any three) : [3]

(D
(2)
3)
(4)
(5)

[6301]EXT-131

ant
boom
no
fast

late



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5301]-EXT-133

F.Y. B.A. EXAMINATION, 2018
(For External)
COMMERCE
G-1 : Organisation of Commerce
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
N.B. .— (i) All questions are compulsory
() Figures to the right indicate full marks.

1. Explain with suitable examples various elements of marketing
mix. [20]
Or
Describe the various modes of Transport. [20]
2. State the nature, scope and objectives of commerce. [20]
Or

What is advertising ? State its advantages and functions. [20]

3. Describe various classifications of markets. [20]

Or

What is Branding ? State its advantages and importance. [20]

P.T.O.



4. Explain ‘Packing’ and ‘Storage’ as a function of marketing. [20]

Or

State traditional and modern concept of marketing. [20]
5. Write short notes on (any four) : [20]

(1) Functions of money

(if) Internet advertising

(1ii) Barter system

(iv) Retail trade

(v)  Nature of trade.

(W& wUTaR)

9% : A9 A THUT TOT : 100

ol — (/) |d Yvd Gefau oAevdsw oed.
(77) SSEIHRSrd 3k YO IO oA,

1. foummfagma fafay e Iuged Iemomafed T . [20]
ferar

aRgHh fafay wrl faee . [20]

2. ‘o’ @ W&Y, AWl d 3e9 9. [20]
ferar

Sfedd oSl &1 ? Sifeddie ®Ee 9 % 9nT. [20]

8. d9~Rus fafay gawr fave . [20]
ferar

'qgih’ US| HE 7 N BEe 9 Hed  EH. [20]
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4, ‘"Haseq ' 9 ‘gugun’ & fauuErt o wee &AL [20]

feRar
fIUUArER ARUIRe & oMY Heheddl AT [20]
5. dieHE 3w fow (SR WR) [20]
(n T @ d
(i) TS e
(i77) o fafa

(iv) Tl =R

(v) URE @&Y.
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Total No. of Questions—5+5] [Total No. of Printed Pages—7

Seat

No. [5301]-EXT-134

F.Y. B.A. EXAMINATION, 2018
G-1 : EDUCATION
(For External)
(Old Syllabus)
Time : Three Hours Maximum Marks : 100
NB. — (1) All questions are compulsory.

(zi) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [20]

(1)  Explain the educational philosophy and functions of Mahatma
Phule in detail.

(i) What do you mean by Environmental Education ? Write the
objectives of Environmental Education ? Expalin the importance

of Environmental Education.

2. Answer any one question in 500 words : [20]

(1)  What is Primary Education ? Explain the causes of Stagnation

and Wastage in Primary Education.

(zi) Explain the nature of education in Ancient India and explain

the aims of education in Ancient India.

P.T.O.



3. Answer any one question in 500 words : [20]

() What are the Mass Media ? Explain the role of Television

(TV) in education with appropriate example.

(i) What do you mean by Education ? Explain the characteristics

of educational process in detail.

4. Answer any one question in 500 words : [20]

()  What is Educational Psychology ? Explain its nature and

scope.

(i) What is family ? Explain the functions of family in

detail.

5. Write the answers of the following questions in 200 to 250 words

each (any two) : [20]
(1)  Explain the importance of Adult Education.

(zi) Explain the difference between Formal and Non-Formal

Education.

(iii) Explain the merits and limitations of Experimental

Method.

(iv) Explain the objectives of pre-primary education.
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(/) TR R I DR qoeH 9 & GfawR e &

(1) AR foiegor WU k™ ? gFieRor fyneumrel Sfesey wot ? qafeR
T80 Hecd W H.

2., Wl WeRT UM SR 500 vz ferer . [20]
(n wafaes e wos w2 wafis Reondid TeE 9 Tesdi=l R0l
e .
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G-1 : EDUCATION
(New Syllabus)
Time : Three Hours Maximum Marks : 100
N.B. :— (i) All questions are compulsory.

(if) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [20]

(a) Explain the educational objectives given by Kothari Commission

(1966).

(b)  What are the problems in the expansion of Primary Education ?

Suggest remedies to overcome it.

2. Answer any one question in 500 words : [20]
(a) Explain in detail the educational work of J.P. Naik.

(b) Explain the role of education in inculcation of National

Integration .

3. Answer any one question in 500 words : [20]

(a) What is Family ? Explain the role of family in educational

development of child.

(b) Describe the nature, merits and limitations of Introspection
Method.
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4. Answer any one question in 500 words : [20]

(a) What is Value Education ? Explain in detail the role of school

in inculcating values among students.

(b)  What is formal and non-formal education ? Explain the difference

between them.

5. Write short notes in 200-250 words each (any two) : [20]
(a) Informal Education
(b) Educational Work of Tarabai Modak
(¢) Nature of Education in Ancient India

(d) Scope of Educational Psychology.

(WSt ®waIa)
9% : 9 a™ TeRUT ToT : 100

el — (1) §d YT Hiefou sevEs SR
(77) SRSl 3k YU IO RifeAnd.
(7i7) WU Hed TUSH WYAUCART el

1. Tcldsl Tel J9E 3w 500 ¥esid faer [20]
(31) HIEW FAENNH  (1966) Hifaoet forgomen 3fEs T &
(9) wAthes feom= YENdiel SSE0l hioedl 7 1 g HhIvAMIE! U™
.
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3. Woiads! TRl UM SW 500 ¥ foral [20]
() Hed WU ®E ? HAreA JEe fommda wearet i Jiawi
e .
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giael T H.

(9) SNu=nfier 9 SHu=aies 190 | & ? SRidid Hh W &

5.  TO®! 200 O 250 Vi@ A AW faw (dveE  F) [20]
(37) HesIfereo
(9) dREE Hiew A Nerfoer e
(F) T=MH 9RdE frgome @Ey

(€) Pefoeh AHEE9TETET ST
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o [5301]-EXT-135
F.Y. B.A. EXAMINATION, 2018
(For External)
MATHEMATICS
FMG-I : INDUSTRIAL MATHEMATICS
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
N.B. :— (i) All questions are compulsory.
(z)  Figures to the right indicate full marks.
(i) Use of calculator is allowed.
1. Attempt each of the following : [20]
(a) Solve :

X + 13x + 30 = 0.
(b) Find the x intercept and y intercept of the linear equation :
2x + 3y = 6.
(¢) Define continuous function.
(d) If
y=02x- 3)*

then find Q )
dx

(e) Define the term marginal revenue.

P.T.O.



(/ Find the transpose of A — 2B, if :
1 1 2
B =
’ 2 3 4]

1 4

2 1 4
A =

5 1 6

() Show that matrix A =

is symmetric.
4 3

(h) Define slack and surplus variable.

()  Evaluate :
[ (4x+10° ax.

(/)  Draw the common feasible region bounded by :
2x + y = 6

x+ y =1

\Y
o

X

y = 0.

2. Attempt any four of the following : [20]
(a) Sketch the graph of :
fx = x2 + 6x + 13

in the interval -4 < x<0.

d
(b Evaluate —, if y=3x(4x-57.
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(¢) Discuss the continuity of the function Ax) at x = 7,

where :
f(x) = X —49 xz7
x-17
=3 x="17
: dy :

(d) Find dx for the equation 4x* - y*=27.

(e) Define the term marginal cost. “Also prove that the marginal
cost must be equal to marginal revenue at the profit maximizing
level of the output.

(/) Determine whether the following functions are increasing,
decreasing or stationary at x = 2 :

()  y=-9x¥+72x-13
(i)  y=x -50.
3. Attempt any ¢wo of the following : [20]
. _ X , .
(a) Given 1% = E’ where g(x) and A'(x) both exist and A(x) =0,

then prove that :

Ax).g(%) - gxh (X

£(x) =
= (K P

3x—4
Also compute the derivative of f(x) = ;+5.
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(b) Find the relative extrema for the following functions :
()  Alx=3%x-36x +135x-13
(i) Alx=2x-16x +32X +5.
(¢ Use the MR = MC method to evaluate :
(1) Maximum profit m and
(if) Check the second order conditions, given :
TR = 1400Q - 7.5Q2

TC = Q3 - 6Q2 + 140Q + 750.

4. Attempt any four of the following : [20]

(a) Verify (AB)C) = (A)BO), if :

2 -1 5 1 11
B: C:
4 3 o ¢ 2d 1 2|

(b)  Define the following terms and give example of each of the

A =

following :
(1)  Identity matrix
(i) Idempotent matrix.
(¢) Find the average cost function for the total cost function :

TC =3Q*+7Q + 12.

Also evaluate average cost function at Q = 3 and Q = 5.
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(d) Evaluate :

_[ 3xX +2 dx.

4% +8x

(e)  Sketch the common region for the following inequalities :

4x + 2y > 28

(f/ Find the integral for :
y= I(XVZ +3X_1/2) dx,

given the initial condition y = 0 when x = O.

5. Attempt any two of the following : [20]

(a) Solve the following linear system of equations, using the Gauss

elimination method :

3X1 + 2X2 + 6X3 = 24

2x; + 4x9 + 3x3 = 23
5X1 + 3X2 + 4X3 = 33.
5 P.T.O.
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(b)  Solve the following LP problem by using graphical method :
Maximize : n=20x +10x,
Subject to : 4x +3x,<48, x <9
3x +5x,<60, x>0, x,20

(¢) Marginal cost is given by MC = 25 + 30Q — 9Q2 and fixed
cost is 55. Find :

(1) Total cost
(i) Average cost

(711) Variable cost function.
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[5301]EXT-137

Time :

NB. —

F.Y. B.A. EXAMINATION, 2018
(For External)
MATHEMATICS

MG-1 : Algebra and Geometry

(General Paper-I)
(2013 PATTERN)

Three Hours Maximum Marks : 100

(1)  All questions are compulsory.

(if) Figures to the right indicate full marks.

1. Attmept each of the following : [20]

(a)
(b)
(o

(d)

(e

(5

Define partition of a nonempty set.
If (a, ) = 1 and al bc then show that alec

Use factor theorem to determine whether g(x) = x — 2 is

a factor of fx = 6x — 11x2 — 3x + 2.

2 4
Find eigen values of the matrix A = [0 3]

2 6

Reduce the matrix A = [ } to row echelon form and hence

5 15
find rank of A.

Determine the nature of the conic :

2 + 4x + 4y + 16 = 0
P.T.O.



)

Find the equation of the plane passing through (2, — 1, 4)
and parallel to the plane 2x + 3y — z = 12.

(A) Find the equations of a line joining two points (1, — 2, 3)
and (-2, 1, 4).

(1) Find the equation of a sphere having centre at (1, 2, — 3)
and radius 3.

(/) Define right circular cone.

2. Attempt any four of the following : [20]

(a) Using principle of mathematical induction, prove that the sum
of first n natural numbers is H(H; 1).

(b) Let Z be the set of integers and n > 1 be a fixed integer.
For a, b € Z define aRb if a — b is multiple of n. Show
that R is an equivalence relation on Z.

(¢0 If a = b (mod n) and ¢ = d (mod n), then show that :
() (a+ 0o = (b + d (mod n)
(i) ac = bd (mod n)

(d) State and prove remainder theorem for polynomials.

(e)  Solve the following system by using Gauss elimination

method :
X+ y+ 2z =09
2x + 4y — 3z = 1
3x + 6y — 5z = 0.
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(/)  Verify Cayley-Hamilton theorm for the matrix :

2 1
A = [5 4} and hence find A-L.

3. Attempt any two of the following : [20]
(a) State and prove division algorithm for integers.
(b) (i) Find the greatest common divisor of Ax) = » - 2x2
+ 6x — 5 and gx = ¥ — 2x + 1.
(if) Determine the value of k& so that the system :
x+y—z=1
2x + 3y + kz = 3
x + ky + 3z = 2
has (i) a unique solution,
(17) no solution.
(¢) (i) Show that two integers 3927 and 377 are relatively prime
and find integers x and y such that :

1 = 3927x + 377 y, for some x, y € Z
(i/) Solve 8x3 — 36x% + 46x — 15 = 0, given that roots are

in A.P.

4. Attempt any four of the following : [20]
(a) Shift the origin to a suitable point so that the equation
x2 — 6x — 4y — 1 = 0 will be in the form x* = 4by. State

value of A.

[6301]-EXT-137 3 P.T.O.



(b)
(o)

(d)
(e

(5

(a)

(D)

(o

Obtain the equation of a plane in intercept form.

Find the equations of a line of intersection of the planes
4x + 4y — bz = 12, 8x + 12y — 13z = 32 in symmetrical
form.

Prove that the plane section of a sphere is a circle.

1 -2
Prove that the straight line X:; = yl =Z

2 + 2 + 22 = 9. Also, find the point of contact.
Find the equation of the cylinder whose generators are parallel

-2
1 touches the sphere

to the line f = _—); = gZ and whose guiding curve is the

ellipse X2 + 2)/2 =1, z = 3.

Attempt any two of the following : [20]

Reduce the equation 5x2 + 6xy + 552 — 10x — 6y — 3 = 0
to the standard form and hence name the conic.

; -1 - -2
(1) Show that the two lines X_—l = ”VTS = ZT and

x+1 y—2 z+4
1 - 1 T 1
of the plane containing them.
(/) If the homogeneous second degree equation ax? + by?

are coplanar and find the equation

+ ¢ + 2fyz + 2gzx + 2hxy = 0 represents two planes
then prove that :
abc + 2fgh — af — bg® — ch? = 0.

(1) Find the equation of a tangent plane to the standard
sphere x2 + 2 + 22 = a2

(z/)  Find the equation of a plane containing the line of inter-

section of the planes 2x + y + 2z + 1 = 0 and
x—y+ 3z— 2 =0 and whose distance from the origin

1S \/g
5
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Seat
No.
Time : Three
NB. — (1)
(1)
(111)
(1v)
(v)

F.Y. B.A. EXAMINATION, 2018
STATISTICAL PRE-REQUISITES
(For External)
(2013 PATTERN)
Hours Maximum Marks : 100
All questions are compulsory.
Figures to the right indicate full marks.
Use of statistical tables and calculator is allowed.
Symbols have their usual meanings.

Graph paper will be supplied on request.

1. Attempt each of the following :

(a)

State whether each of the following statements are True or

False :

(1)
(1)
(1)
(1v)
(v)

[1 each]
Arithmetic mean is always positive.

Index number never exceed 100.

For Laptokurtic distribution the value of By = 3.
Simple random sampling is applicable if population is finite.
The classes denoted by Greek letters are called negative

classes.

P.T.O.



(b) Choose the correct alternative for each of the following :

(1)

(11)

(111)

[6301]-EXT-138

[1 each]

For positively skewed distribution the value of third central

moment 1is :

(A)
(B)
(®))

(D)

>0

<0

=0

None of the above

The standard deviation of n observations is 2. If each

observation is doubled, then standard deviation of new

series 1is :
A 2
B 4
) o0
D) 1

The first central moment of the distribution is :

(A)
(B)
(&)

(D)

0

Mean

Median

Mode



(1zv)  With the help of histogram one can determine :

(A)
(B)
(&)

(D)

Mean
Median
Mode

All of the above

(v)  If mean = —10 and standard deviation = 2, then coefficient

of variation is :

(A 20
B) 20
C -5
D) 5
(¢0 Answer in brief : [2 each]

(1) State any {wo demerits of median.

(77) Define nominal scale with one illustration.

(i11) Define the term “dichotomy”.

(1v) Explain the concept of association of attributes.

(v Find mean of first 5 positive odd numbers.

2. Attempt any four of the following : [4x5=20]

(a) Write a note on stratified random sampling.

(b) Distinguish between attributes and wvariable.

[6301]-EXT-138
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(¢) Describe various types of raw data.
(d) Draw less than cumulative frequency curve for the following

frequency distribution :

Marks Obtained No. of Students

0—20 5
20—40 12
40—60 43
60—30 32
80—100 8

(e) Calculate 7th decile from the following frequency distribution :

Class Frequency
0—5 8
5—10 18
10—15 29
15—20 12
20—25 6

(/ Given that :
X = 1205, Y = 10.37
oy = 12.7, 0, = 2.39
and correlation coefficient between X and Y is 0.93. Estimate

X if Y = 12

[6301]-EXT-138 4



3. Attempt any four of the following : [4x5=20]

(a) Write a note on “scatter diagram”.

(b) State merits and demerits of variance.

(¢) Given that : X = 1, myg = 3, myg = 0 and my = 27. Find
the first four raw moments.

(d) Explain the concept of residual.

(e)  For positively skewed distribution, given that : variance = 1.2,
Bo = 2.6 and By = 0.19, find third and fourth central
moment.

(i  Calculate Fisher’s price index number from the data given
below :

Commodity Py q0 P 1

A 4 6 5 8

B 5 5 6 10

C 6 8 8 9
4. Attempt any two of the following : [2x10=20]
(a) (1) Distinguish between Simple random sampling with-

out replacement and Simple random sampling with

replacement. [5]
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(i1) Calculate coefficient of variation from the following

data : [5]
X f
5 5
15 10
25 15
35 12
45 8

(b) (1) State the effect of change of origin and scale on raw
moments. [4]

(i) Compute harmonic mean for the following data :
18, 17, 19, 25, 19, 29, 45, 32, 40. [6]

(¢) Compute mean deviation about mode for the following

data : [10]
Class Frequency
10—20 15
20—30 21
30—40 39
40—50 29
50—60 21
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(d) Compute Spearman’s rank correlation coefficient from the

data given below : [10]

X Y

18 10

32 18

19 22

45 13

10 29
5. Attempt any one of the following : [1x20=20]
(a) (1) Explain any ¢wo consideration in the construction of

(11)

(111)

b

[6301]-EXT-138

consumer price index numbers. [5]
Explain the least square method of fitting the
exponential curve of type Y = axb. [5]
Examine the consistency of the following data : [10]
N = 1000, (A) = 410, (B) = 390, (C) = 410, (AB) = 380,
(BC) = 370, (AC) = 330.

Explain the term Skewness and Kurtosis. [10]

7 P.T.O.



(i1) Fit a second degree parabola to the data given below

by taking Y as dependent variable : [10]
X Y
1 110
2 150
3 190
4 210
5 350
6 410
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F.Y. B.A. EXAMINATION, 2018
LOGIC
(G-I : Introduction to Logic and Principles of Reasoning)
(For External)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Explain the nature, scope and subject-matter of logic. [20]
Or
(a) Show using Venn diagrams of A, E, I and O propositions. [10]
(b) Convert and obvert the following propositions : [10]
(1)  All players are brilliant.
(zi)  All that glitters is not gold.
(i) Some politicians are honest.
(iv) Some animals are not active.

(v)  All students are present.

2. (a) Explain with examples traditional classification of proposition. [10]
(b) Explain four figures of the categorical syllogism and give

examples. [10]
P.T.O.



Or
(a) What is a set ? Explain types of set. [10]
b If U = {a, b, c, d, e, £, g} [10]
A =1{a, b}, B=1{a c,e}], C=1(b,c,e g} &D =1{d, e, g}

Then list the elements of the following sets :

1 A n B
2 C u B
3 CnD

4) ~A n ~B

B5) D u A
3. (a) Explain with examples modern understanding of proposition and
their classification. [10]

(b)  Symbolize the following propositions using the symbols given

in bracket : [10]

(1)  Either he is dead or alive. (D, A)

(i) It is not true that India is not developed. (I)

(iii) The car runs only if there is fuel in its tank. (R, F)

(1/v) If Ramesh is not writing and reading then he will
fail. (W, R, F)

(v» If you study then, you will pass and you will get
job. (S, P, J)
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Or

(a) Determine whether the following statement forms are

Tautologies, Contradictory or Contingent with the help of
Truth Table, Shorter Truth Table or Truth Tree method

(any four) :

(D [p>o>g v i~pVvadl or

(/) (a v b) D (b D ¢

(77 [b o (a » ~a)] v ¢

(iv) [(a D2 b) « (b D ¢c)] D (a D c¢)

(v (p vaq v (q -« s)

[10]

(b) What is decision procedure ? Explain in detail nature of

Shorter-Truth-Table with an example.

4. (a) Prove validity of the following arguments (any three) :

(n (D)
(2)
3)
(1) (1)
(2)
(i) (1)
(2)
3)
(zv) (1)
(2)

~b O ~a

b o d

(aveod/ .

p Vv q

p -
~p/ . q T
~~h o ~(G v k)
h / - ~j

[10]

[15]

(b) Explain with examples the method of indirect proof of

validity.
[5301]-EXT-139
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Or

(a) Explain in detail how to prove invalidity of an argument with

appropriate example. [10]
(b) Demonstrate the invalidity of the following arguments (any

two) [10]
1) ~e v ~f

~(g «+ h) o (e v 1)

h og

/ ~~g
(2) ~q D ~p

~q V ~T

~T

/ ~p

@3 (p o (g > r)
~(~p v ~q)

/ - ~r v ~q

5. Write short notes on any four of the following : [20]
(1) Simple Enumeration
(i) Contrary opposition
(7i7) Induction
(1/v) Truth-table of implication
(v)  Fallacy of Division
(vi) Rules of Inference (any t¢wo).
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1. OIS WEY, Al ST S1grEfasE Tee . [20]

feRam

() &1 AFdr= 9RrAE A, E, I 9 O fauym= @&y @ &3. [10]
() Yda fagmre ofRads 9 gfdads &a [10]
() Fd Terg TR e
(7)) FHRd 9 FE A A

(7i7) R TSHROT YrHforeh ST,
({v) hT&l 9O =9 FHdmd.
(v) Td foenef sufeem emea.

2. (3 foud= urRuRer ofiedor HigR e . [10]

(@) freufys dfauFmn | el W< &0 d 3[R AL [10]
ferar

(37) ¥9 WIS ®E ? HEAM YER W FH [10]
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(1) X U = {a, b, ¢, d, e, f, g} [10]
A=1{a, b}, B=1{a c,e}], C=1(b,c, e g &D=1{d, e, g}

W Yed H9™ uedh 9

1) A n B
2 C u B
3 CnD

4) ~A n ~B
5) D u A.

3. (3) foumma sy iUl WREW T H. [10]

(9) %YM feden fa=r=n SWEm &ed @eia faum fe=ifed w0 : [10]

(/) @ THR gd @a fear f§&a. (D, A)

(7)) ¥ B @ ol vRd wRHEk ARl (1)

(i) SR TMEr=AT THhid 3HE WA ™ o =@ (R, F)

(Gv) R T foda T@ oenfor Se@El ARl W A A dEd.
(W, R, F)

n

(v) S gWl HAYE sl W Rl 99 ®d 9 Rl Al
. (S, P, J)
feRar
(37) TAA HIeHh USdl, AAAA hieeh Tgdl fhal T&d J&T dGar=a
YR Gl fagm Ted: ¥@, Hoa: oud fehen "Adfues e
ARd d @ (HUE FX) [10]

(D [p>o>qg v i~pVval or
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(i) (a v b) o (b D ¢
(ii) [b o (a « ~a)] v ¢
(iv) [(a > b))+« (b >Dc]>d(@>Dec
(v (pvaq vi:-s)
(@) fofa 9fea moe ®@ OFE TEEEAT wied USd Seedumdled

W H. [10]

4. (3 wEa FgREREr SgFal g w0 (FR0E d ) [15]
() (1) ~b > ~a
2 b od
3 ~d/ .. ~a
() (1) a b
2 (@aveo>d/ . a-d
(i) (1) p v q
2) p-r
@ ~p/ o q-er

(ivw (1) ~~h o ~(G v k)

2) h/ - ~j
() Tyaet Ay faga Usdt SeRTHfed TR [5]
fenar
(31) ARt oEydn IeRUmafed TR H. [10]
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(A) Trefia gfRaRrEt sged fas &0 (FIE 8)

1) ~e v ~f
~(g * h) o (e v 1
h og
[ ~~g

(2 ~q D ~p

~q V ~T
~T
/oo ~p
3 ((p > (q@>r
~(~p v ~q)
/ s ~r Vv ~q

5. Eeields! SRl 9Rel desdd A fawr

(7)) had TUH
(i7) fa" (Contrary opposition)
(iin) o=

(iv) b faumme doar sisds
(v) faasm decm

(vp) oAFN 99 (Foad | M).
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5301]-EXT-140

F.Y. B.A. EXAMINATION, 2018
SOCIOLOGY
(G-1 : Introduction to Sociology)
(For External)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
NB. — (1) All questions are compulsory.
(z) Figures to the right indicate full marks.

1. Attempt any one of the following questions : [20]
(a) Discuss the subject matter of Sociology.

(b) Explain the characteristics of Social Institutions.

2. Attempt any one of the following questions : [20]
(a) What is Social Group ? Explain the types of Social Group.

(b) Define culture and discuss the characteristics of culture.

3. Attempt any one of the following questions : [20]
(a) Explain the meaning and types of Social Mobility.
(b) What is Social Change ? Discuss the factors of Social
Change.
P.T.O.



4. Attempt any one of the following questions : [20]
(a) Define Social Control and explain the types of Social
Control.

(b) Explain the relevance of sociology in contemporary society.

5. Write short notes on (any ¢wo) : [20]
(a) Re-socialization
(b)  Social structure
(¢) Sociology as a profession

(d) Concept of cultural lag.

(W& T UIR)
9% : 9 a™ THUT TOT : 100
ol — (/) ¥d WA giefau oeRasd o
(77) ISERSIS Tk YIAE YU IO SFfeArd.
(fii) TRUES! HeB TUSHT YAYART Tgral.

1.  Weiicush! SR TRl Y9 W o [20]

(31) TUERTET 1vg-fowam=l == .
(&) TmfSe gl afyrses T S

2., Weliclieh! HIVER! Tl Y= S o . [20]
(H) HHAIMSS T WIS Hd ? HHNSH HIEM ThR WL HJ.
(9) wEpdr= A WS Fehdiea dfymear=t == &
[5301]-EXT-140 2




3. Woiadsh! SR TRl I W fasr : [20]

S W

(31) gt Tfaefierdsn 31 T e T &

(F) HHifSer Ifadd WU w1 ? TS URedArea Sehil 9=l

4, WCAcUsh! DR TRl Y W fon . [20]
(31) it frasom=l =aren =1 snfor gmfsie 990 9 T &

(9) THRCHT THSIRT HHSRTSTE STER oY T 6.

5. el fewr fomr (v dF) [20]
(31)  qoigmISTeRT

(9) gmHIfSTer  H=

(%) IISRTE—T&F Fad™

(8) Tpdis UEEE Hheudl.
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat
No.

[5301]-EXT-141

F.Y. B.A. EXAMINATION, 2018
(For External)

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper 1

(Outline of Prehistory, Proto History and Early History)

Time :

(2013 PATTERN)
Three Hours Maximum Marks : 100

N.B. .— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer any one of the following questions : [20]

(a)

(D)

Discuss various definitions of History.
Or

Explain the characteristic features of stone ages.

2. Answer any one of the following questions : [20]

(a)

(D)

Describe the extent and town-planning of Harappan Civilization.
Or

What is Heritage ? How to preserve it ?

3. Answer any one of the following : [20]

(a)

(D)

Write an essay on sixteen Mahajanpadas.
Or

Explain the 'Dhamma’ of Ashoka.

P.T.O.



4. Answer any one of the following :
(a) Write the achievements of Kanishka.
Or
(b) Discuss the Shaka-Satavahana conflict.

5. Write short notes (any fwo) :
(a) Inscriptions
(b) Rigveda
(¢) Vakatakas
(d) Pallava Art

(W& T UI)
d% : O A
g — (1) |d YA SAeds AR
(i) 3ETRSIE 3Tk YA YU IO SEifodm.

1. Weiicus! HIER! TRl J9M 3al Tl
(31) sfagraren fafay =mer=h <=1+
feRar

(9) SOl 3Pw AT T H.

2. TEladshl RV TRl Uv9 SaRk  foral .
(31) TEWT H&hd= A M TREGSA F0H - R
fenar

() ‘or@m’ WUS HE 2 dl Rl Sdd Hidd ?

3. Telads! SR TRl YIE Sk faal
(31) Wil TEeMYe AR fay forar.
ferar

(9) ‘sTeleRTEl T TS

[6301]-EXT-141 2
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[20]

[20]

100
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4. EAYs! HIOAR TRl JeIE IaX foa@l [20]
(31) hiTshr=El HENR fogl.
fmar
() VH-9raaed gudEt =@= w9

5. diew@ du fawl (FoEE g§F) [20]
(31) sifyyerE
(%) RTeg
(%) dhleh
(¥) Ucad el
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Total No. of Questions—5] [Total No. of Printed Pages—5

Seat

No. [5301]-EXT-142

F.Y. B.A. EXAMINATION, 2018
(For External)

STATISTICS
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
N.B. :(— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.
(iii) Symbols have their usual meanings.
(1v) Use of statistical tables and calculator is allowed.

(v)  Graph paper will be provided on request.

1. Attempt each of the following :
(a) State whether the following statements are True or
False : [1 each]
(1) First central moment is zero.
(if) Mode can be obtained in case open end classes.
(117) Karl Pearson's coefficient of correlation does not change
in magnitude under change of origin and of scale.
(iv) Index numbers are called as economic parameter.
(v) Coefficient of determination should be non-negative.
(b)  Choose the correct alternative : [1 each]
(1) Box plot helps be judge the :
(A) Central value
(B) Spread
(C) Symmetry
(D) None of the above.

P.T.O.



(11)

(111)

(1v)

(v)

If the population is heterogeneous then better method
of sampling is :

(A) SRS

(B) Stratified random sampling

(C) Systematic sampling

(D) Two-stage sampling.

Spearman's rank correlation coefficient is always lies between
(A) (0, +1)

B) (-1, 1

(C) (=0, +o0)

(D) None of the above

Which of the following measures of central tendency value
is not possible graphically ?

(A) Arithmetic Mean

(B) Median

(C) Mode

(D) Quartiles

If Gi = 4 then Var 3x - 4) =

(A) 12

(B) 36

(C) 8

(D) 32

(¢) Answer in brief : [2 each]

(1)

(11)

[6301]-EXT-142

Distinguish between inclusive and exclusive method of
classification.
Define positive and negative correlation with one example

each.



(irn) If 4Y — X — 5 = 0 is line of regression where X is
independent variable, then estimate Y when X = 1.
(iv) Coefficient of determination.

(v) Independence of two attributes.

2. Attempt any four of the following : [4x5=20]
(a) Describe the utility and scope of statistics in industry.
(b)  Define :
(1) Class mark
(i) Open and class
(1i7) Positive attribute
(iv) Raw data.
(¢ Write a short note on Kurtosis.
(d) What is measure of central tendency ? What are its
characteristics of good measure of central tendency ?
(e)  Given the line of regression such as X is independent variable
in X — 2Y = 24, then find its regression coefficient and also
estimate Y if X = 20.
(/4 Explain the procedure of fitting of +the curve
Y = a + PX +cX2 by the method of least square.
3. Attempt any four of the following : [4x5=20]
(a) Describe the index numbers SENSEX and BSE.
(b) Given the following information on price of a commodity :

Kolhapur Solapur
Average price 65 67
S.D. of price 2.5 3.5

and r = 0.7. Find most likely price in Kolhapur corresponding

to price of Rs. 75 in Solapur.

[6301]-EXT-142 3 P.T.O.



(¢ The first two moments of a distribution about value 2 are
5 and 60. Find the mean and S.D.

(d) For moderately skewed distribution the A.M., median and
coefficient of skewness are 86, 80 and 0.42 respectively. Find
mode and C.V.

(e)  Write a short note on systematic random sampling method.

(/ What is meant by deflating ?

4. Attempt any two of the following : [2x10=20]

(a) Derive Spearman's rank correlation coefficient in case of without
ties of observations.

(b) For the following information :

n = 10, =x=125, Iy =100, Zx*=1650, )’ =1460, Zxy =508

Later on it was discovered that the two pairs of observations
are taken as (6, 14) and (8, 6) instead of (60, 40) and
(18, 16). Obtain correct correlation coefficient between (x, y).

(¢) What is index number ? What are the problems in the construction
of index numbers ?

(d) Given n pairs of observations (x, y;) 1 =1, 2, ...... n, explain
the procedure of fitting of simple linear model of the type
Y = a+ bX + ¢, with E(e) = 0, V(e) = 62 estimate the parameters
'a and ' by method of least square.

5. Attempt any one of the following : [1x20=20]

(a) (i) With usual notations prove that : [8]

By = By + 1

() Given that :
2p, q, = 2000, 2p, q, = 1600,
2p, q, = 1300, 2p, q, = 1030,

Construct Fisher's price and quantity index numbers. [6]

[6301]-EXT-142 4



(117) Calculate quartile deviation and coefficient of quartile deviation

b )

for the following information of daily wages of 100

workers :
Daily wages
10-20
20-30
30-40
40-50
50-60

No. of workers

16
20
35
24
05

[6]

Define Karl Pearson's correlation coefficient (r). With usual

notations show that :

-1<r<+1

(i7) Write a short note on scatter diagram.

[5]
[5]

(7i7) Splice together the following series of index numbers by

continuing :

(I) the series A forward and

(II) the series B backward.

Year
2011
2012
2013
2014
2015
2016
2017

Series A

45
60
75
100

Series

70
80
86
100

[5]

(iv) If the rank correlation coefficient between X and Y is 2 and

3

the sum of squares of differences between the ranks is 55,

assuming that no rank is repeated, find the number of pairs

of observations.

[6301]-EXT-142
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Total No. of Questions—5] [Total No. of Printed Pages—4

o [5301]-EXT-143
F.Y. B.A. EXAMINATION, 2018
(For External)
APPLIED MATHEMATICS
AMG-1 : Calculus and Differential Equations
(2013 PATTERN)
Time : Three Hours Maximum Marks : 100
N.B. :— (i) All questions are compulsory.
(z) Figures to the right indicate full marks.
1. Attempt each of the following : [20]

(a) Find all real values x satisfying |lx — 11 > Ix + 11I.
(5 Find a rational number between 6 and V7.
(¢) Find glb. and lu.b. for the set :

s=|(3] imen}.

1
lim e*.

x>0~

(d) Evaluate :

() Find y,, if y = (ax + b3 where a and b are constants.

(H Evaluate :

/2
_[ sin®® x dx
0

P.T.O.



(g) Solve the differential equation :
Xdx-3y7dy=0.
(A) Find the orthogonal trajectories of the family of parabolas with
vertices at origin and foci on jy-axis.

(1)  Solve the differential equation :

y=px+(1+ p2)1/2-

(/)  Define :
(1) an integrating factor of the DE.

(i) exact differential equation.

2. Attempt any four of the following : [20]
(a) If x and y are any real numbers with x < y, then there
exists a rational number r such that x < r < yw
(b)  Verify Rolle’s theorem for the function :

=28 +x -4x-2 on [—w/i, «/EJ

(¢0 Evaluate :

(1 1
lim|— - ——|.
X—)O[X g"—lj

(d) Expand e*¥ in ascending powers of (x — 1).

(e) Discuss the continuity of the function :

f(X)z;—a, if 0 < x< a
=0’ ifX=a
3
= a—%, if x > a.

(fH Prove that J§ is not a rational number.

[6301]-EXT-143 2



3. Attempt any ¢wo of the following : [20]
(a) State and prove Lagrange’s Mean Value Theorem. Give its
geometrical interpretation.
b (@ If p= dmlx prove that :
1+ )y, +[2n+D) x-1ly, , +nn+1y, =0.
(i) Using Taylor’s theorem, evaluate :
_log[l * Xj - 2X—
lim 1-x

x—0 X3

(e0 (1) Determine the set A = {x € R/x*2 + x > 2}

(1) Evaluate :

lim (cos ax) b
x—0

4. Attempt any four of the following : [20]
(a) What is Bernoulli’'s equation ? Explain the method of solving
it.

(b) Show that the family of curves j* = 4a(x+ a) is self-orthogonal,
a being parameter.

(¢0 Evaluate :

1
—d
IX(X2+3)
(d) Solve :
dy _y-x
dx y+ x

[6301]-EXT-143 3 P.T.O.



(e) Solve :

y=2px+ y’p where p= a
dx
(/  Solve :
(x+ y+ 1)21 = 1.
dx
5. Attempt any ¢wo of the following : [20]

(a) Define non-homogeneous differential equation. Explain the method

of solving it.

dx
(b)  Obtain reduction formula for _fm where n is positive

integer.
(o0 (i) Evaluate :
J‘ﬁ dx
(i7) Solve :
(X + ¥ + 2% dx+ 2ydy=0.

[6301]-EXT-143 4



Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [5301]-EXT-144

F.Y. B.A. EXAMINATION, 2018
(For External)
APPLIED STATISTICS
(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

(111) Use of statistical tables and calculator is allowed.

(1v) Symbols have their usual meanings.

1. Attempt the following :
(a) State whether the following statements are True or

False : [1 each]
(1) Mean can be determined graphically using stem and leaf
chart.

(1) Variance is independent of change of origin.
(111) Skewness is the peakedness of the distribution.
(iv) For asymmetric distribution Mean = Median = Mode.
(v) In construction of index numbers, the base year index number
is considered as 100.
(b)  Choose the correct alternative : [1 each]
(1) Box plot can be used to study :
(A) kurtosis
(B) correlation
(C) regression

(D) skewness

P.T.O.



(1) If variable X assumes values 5.1, 5.1., 5.1, 5.1, 5.1, then
mean of X is :
(A) 1.5
(B) 5.1
C) o
(D)5
(1i1) If the measure of kurtosis (y,) = 0, then the corresponding
distribution is :
(A) platykurtic
(B) negatively skewed
(C) leptokurtic
(D) mesokurtic
(iv) For simple linear regression model Y = a + bX +&, where
€ such that :
(A) E[e]=1
(B) Ele]=0
(C) Elel=c?
(D) Elel=¢
(v) In the construction of Paasche's price index number the
weight is considered as :
(A) quantity consumed in current year
(B) quantity consumed in base year
(C) average of quantities consumed in current year and
base year

(D) none of the above

[6301]-EXT-144 2



(¢0 Answer in brief : [2 each]
(1) Define Spearman's rank correlation coefficient.
(17) Define Karl Pearson's coefficient of skewness.
(7i7) Define Laspeyre's price index number.
(iv) State the normal equations used in obtaining constants
‘a', 'b and 'c for second degree curve of the form
Y = a + X + X2
(v)  Define weighted harmonic mean.
2. Attempt any four of the following : [4x5=20]
(a) A train travels the first half distance of its journey with a
speed of 40 km per hour, next one-fourth distance at a speed
of 60 km per hour, the remaining one-fourth distance at
a speed of 40 km per hour. Find the average speed of the
train during the journey.
(b) Find the mode of the following frequency distribution :
Mid—values Frequency
1500 20
2500 35
3500 65
4500 75
5500 55
6500 35
7500 10
(¢) Explain aggregate expenditure method for construction of
consumers price index numbers.
(d) State any two merits and two demerits of standard deviation.

[6301]-EXT-144 3 P.T.O.



(e

(5

3. Attempt any four of the following :

(a)

The weekly salary paid to all employees in a certain company
was Rs. 600. The A.M. of weekly salary paid to the male
and female employees were Rs. 620 and Rs. 520 respectively.
Obtain the percentage of male and female employees in the
company.

Write a note on scatter diagram.

[4x5=20]
Examine whether the following data are consistent :

N = 100, (A) = 20, (B) = 70 (AB) = 40.

(b) The following data represents marks obtained by students in
class :
31, 34, 03, 41, 15, 38, 26, 21, 17, 16,
08, 48, 46, 32, 33, 18, 18, 23, 21, 22,
10, 08, 24, 33, 34, 28, 35, 33, 37, 11,
21, 33, 16, 34, 49, 25, 17, 29, 34, 50
Prepare stem and leaf chart for the above data.
(¢) Compute Paasche's price index numbers for the following
data :
Commodity Base year Current year
pp (in Rs.)) |qq (in kg.) | p; (in Rs.) | q; (in kg.)
A 10 50 9 55
B 15 100 12 124
C 11 70 17 66
(d) In an examination 60% passed in Physics, 50% passed in Chemistry,

while 30% failed in both the subjects. Using the relations between

class frequencies in attributes. Find the percentage of students

passed in both the subjects.

[6301]-EXT-144 4



(e)  For the following data compute Spearman's rank correlation

coefficient :
X Y
10 10
20 9
35 5
41 12
50 4
65 6
75 3
80 7
90 8
70 2
55 14
25 1
(/)  Define :

(1) Mean deviation about median

(771) Coefficient of wvariation.

4. Attempt any ¢wo of the following : [2x10=20]
(a) Compute mean deviation about mode for the following frequency
distribution :
Size of item Frequency

4-8 6

8-12 10

12-16 18

16-20 30

20-24 15

24-28 12

28-32 10

32-36 8

[6301]-EXT-144 5 P.T.O.



(b) The profit (in lakhs of Rs.) earned by company in Xth year

is tabulated below :

X Y
1 24
2 27
3 32
4 38
5 45

Fit the second degree curve Y = a + X + CX2 to the above
data.

(¢) Explain the concept of skewness and kurtosis of the distribution.
Further state the measures of skewness and kurtosis based
on moments. Also explain the concept of skewness using Box
Plot.

(d) Define the following terms used in the study of
attributes :

(1) Order of class
(1) Positive class and negative class
(1r7) Ultimate class frequency

(7v) Yule's coefficient of association.

5. Attempt any one of the following : [1x20=20]
(a) (1) Explain the difference between correlation and regression.

(i) Define raw moments and central moments of ungrouped

and grouped data. Further state the expression of fourth

central moments in terms of earlier raw moments.

[6301]-EXT-144 6



(7i7) Splice the index series A forward :

Year Series A Series B
(2005 = 100) (2008 = 100)

2005 100

2006 115

2007 120

2008 125 100
2009 120
2010 125
2011 135
2012 145
2013 155

(iv) Explain the inclusive and exclusive method of classification
with suitable illustration.

(b) (1) Explain the terms : stratified sampling and systematic
sampling.

(11) Coefficient of variation of two groups are respectively 45%
and 50% and their standard deviations are 20 and 25.
Find their arithmetic means.

(111) Define the following terms :
population, sample, primary data, secondary data.

(1v) From the following data construct the index number for
the year 2010 taking 2000 as base by using simple average

of price relatives.

Item Price (Rs.) 2000 Price (Rs.) 2010
A 7 11
B 3 5
C 5 9
D 15 14
E 9 11

[6301]-EXT-144 7



Total No. of Questions : 5] SEAT No. :

P1724 [Total No. of Pages : 2
[5301]-Ext.-145
F.Y.B.A.
PHILOSOPHY
Introduction to Philosophy (General - 1)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Write an elaborate essay on the nature and branches of philosophy. [20]
OR
Explain the metaphysical views of Advaita Vedanta.

02) What are the different sources of knowledge? Discuss elaborately. [20]
OR

Describe the nature of logic as a branch of Philosophy. What is the difference
between the deductive and inductive arguments?

Q3) Critically discuss Utilitarianism of .J.S. Mill. [20]
OR
Discuss the concept of dharma and its types.

Q4) Discuss any three arguments for the existence of God. [20]
OR
Explain the relation between art and morality.

Q5) Write short notes on any two of the following. [20]
a) Categorical Imperative b) Charvaka materialism
c) Pratyaksha pramana d) Beauty

SISIS)

PTO.



Total No. of Questions : 5]

P1724

[5301]-Ext.-145
F.Y.B.A.
PHILOSOPHY
Introduction to Philosophy (General - 1)
(2013 Pattern)

(TS EUTaR)
d= - 3 amg] [ Tgur 7797 : 100
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